ER#zk: 400-830-3938 800-830-3938

M 77
USER MANUAL

SANTAK®






SR A LRy 7

TR ST AR T AL AR BRI S AR, RS R
AT AERAT B 5E P 12 il B AT IRAE B I LA, 1B A 24
TEADL.

ARTFHHEH F3C3 PRORSIF &, ffE:
3C3 PRO 20KS

3C3 PRO 30KS

3C3 PRO 40KS

3C3 PRO 60KS

3C3 PRO 80KS

3C3 PRO 100KS

3C3 PRO 120KS

3C3 PRO 160KS

3C3 PRO 200KS



= IE 7= B

IEA =R

N T VISR S o A AL 22 4, 35 B SER R AL RFUPS, 1 ER LA
¢

TN ILREN AT : @SANTAK wis”

2.1 GRYID AR w2 H E AR DT E IR EFEH B A R A 2 UPS;

.l bl S LA “H T IRET C “HTREN” REZ SRR
TR BEHEAT I Fh wh S 4 IR BIAS) o

A 2

Wb ). B swww.95001111.com (FEF B ER THRERN) , HA S
FT AT

HIG A ). 95001111 3ET7 &1l CRAFIEMIX 7744 $7010-95001111) ;

HAEA: gmfe Y Ki%£106695001111 (3. BGERT)

WA SEN, HTRTT 1595001111 5L & Fwww.95001111.com iy “7 2 ” 3
ITHIRI R

WAL 7= B

UREA B8 THRGHT, AW AL i (0 77 s AT AR 55 2 % P 755K, FRATTKECR 7
K P= et FARBAS . AR M B R, AN FATIE . 7= DA N .
i & sewww.santak.com.cn N #E 7= i B .

FRALAIT A © 2019-20231L4FHF GRYID HIRAH



ZEEIEEM

BiEzE

1.

o bk~ w0 D

© © N o

FEAE A S, WA HBI L “ 2 VR P , DA OR BB 2 4 R4 1 .
I35 23 ORAF LT

BRAEN, IEERIERL, FHZEORETERAE.
THZIEFDE ELE U . NP s A A 58 8 AR e 45
AW A R ZBALFET IR D, BURIRYT . ARSI A I I

JRCEUPSIE, VY A 2 4rb 8, RIEE KA S fh el . 2228, 162
T 0

RIS, I TR AR 3 e AT B

A8 KE, 8 LR TR KK EREAT K Ko FEIEAE AR K 28 o
2R T B PR SR B AN Lt 2 (1 K g

AR, B OR 03T 5 UPSHUE T4 L B ic WL b AR AH UL AT

ZIFEIN

1.

3.

YR B R R s, AR A R BUOR A A A BB N B, 18 Z1HE H 11T
PUF G, SN AME Rk, FRREERETERK.

N T R IR A BB A B, W F e 5@ e LR A R e N, WE E
BN LA S5 20 ) 1) 285 FE AT B T2

ARG Tl BRI ACES . B
B.HELSE A T REfE S NS & R
C.JA sl AR K HL P 2E A D S s
HLI AR E T, DL R AE

RS%E

EAET, BRI C IR, JES EAC A LR AT AR R R IR R
FELU OR 37 2 B 7 I 0 R IS PR e R 7 I 5 2 o

MUPSTH EM AN B HT LN, DARIEUPSE kL, FRR A TR A
FLULF ORI, 15 D040 H S ) e ey flL, A L R SR

P DR 4 K i PR RE 1 158 P LR R 1D PRI e AT B A

2 )7 i (R JE R UP SHIT A A I HE 28 48 2 R A0 e RIS (L F) DU AR e 37 B it PR 72
B, BT A R, PARTA i ER.



RittLE

1.

& PR A A Ar A B IR L O T e 4 e . 8 U3 B e e it T PRUEUPS AR IR,
T ORUE A2 0% 1) i 2 B T

75 R Y S A AN 24 R RE B 25 B B R R B R BN GURIEAT, 2l
HRRISS RN 5 1) & i, AL AU A

& F A LT G R AN AT B PR SE e B S R O N SR, 7 T T
TS R

ANER TR AR B JE A

B I8 21 LR

C.F WIS HEMFE;

D. 15 7045 <2z T HL el S ALL i) <2 A e AR L

E.fEFF i =i 11T, 5G4 AL Lt B R 3

4. EESEEHMEZET P, UAenlinsiE, ek ANgws,

5. JEEN N LIS FT T B S Fh, Ry F s e ) R R S A S R A S T
J, ok B RN BRI Ao A . A RSN R B R, NOLRI KR
HIE /K BEATIE B, JFRBERR A .

6. EZVKHEIE ANE R, I A BB R R S E, DB K E
i fEk.

ERRSE

1. s IR B RAT T V06 AP S R A gy ST S e s, IR, 1R
e G AE T A LA Th s
ABHEE AR ME GEE0-40°C, MXTIEE0-95%) HIm . RIEAE T
it
B. ARz B2,

C.AHEGEMER . B, EhoAal B IRRI7 A .

1. WRKEEREAEE, LIEBUPS (At FHU0E TR, £
IRJEVEH: -25-55°C . UPSHHLZ AT, DASGIEAERERBE R0 CLL E, 4
Er2/heted F o

2. EGRERE. HERALWIEY . 3. HERILRE R 2 S EUPS N ER IR T
1, [N T AR R A 4R R, T2 R B BN LT

3. W TFYMMKIIAH, mHZEL =N RN, FRm R EERfE

&, SN A RFEHR R T IR BIRAEST100 S PIZ1 S IR
HL, LI 3RS O (] R AN I 147N



g R RO 1
(O R TR 1
(I g e L S 2
g 22 TR 3
B T R i 3
2.2 FRTIIE] ettt 4
2.3 LCDTBRIE TR VLT oo 12
g IS OO 13
B BB TR oot 13
B2 ZZBEZETH] oot 13
3.3 IR TALE BB oo 14
3.4 3C3 PRO RFNUPSHLLE RFRI ZEE oo 19
I 1 27
3.6 FEIAEEFEUPSHIZE IR oot 30
BEA B AAE oottt 31
I N 11 31
N e K (= 39
B8 B AT oot 40
g LR L a1 2 O 45
6.1 BHZRTT VI ..ottt 45
B.2 TR SEAL IR oo 46
8.3 KU FELYE ..o 46
W7 B IBH . GET G HETERR oo 47
e 5 N G 49
N = 115 R 51

BRI = ZEABTRIUE e e 52



== iA
B1E &N
11 RSN

3C3 PROAJIZRAA MR mIEREMIF . difEk. =it = 1UPS/™
e Bt VOSSR AR RI R TR, RO TR e AR AR
BRI RS . JRIER R BkeR s RIS . BRI RITIL. BRI
PRI, A el DU Z ST SRl e s, AR B A i I Se s i, JF
LA X el PR A AT AN S SR BC PSR MLx SR 2R K Tk 3A 8. [Klk, 3C3 PRO
R SRl Gl BUF. Bl REIRAE 22 R AT L e e e

3C3 PROF 7™ il ¥ 2 P Ly g ) Dy 8 1) st 26 32 048 i o St ) L ORALE -
St FIDSPEUFZHIBOR, A RERTH ™ IR R T FElE
N+XTFERTUA (SR IFHLILHT i)
P75 AP IR 3 P e
gt ZEMECOMAIZFE ] (FUPS BN R £ 398 % A 1
AT AN B LCD A, #RAF BV T
DIy g 5 K PRI TR AT R 4%
PR AT, PR S B i SR R e B




1.2 ERMASIRA

NSRS SEARYH B R, el ge LN R B, 1 ER A
FRHRnHA o

A

55 Kd X

o X

EEy e
=0 fih

. TN :/t‘
AL it

>

=== H i
PRI
R TEAN

152k A

=B ®




2.1 IREENE

1. TP adE, GRNNA:
1) UPSEHNL—F.
2) FEHLEE, BFEA A TN FORME B R AT T 94T (60-200KS).
2. KAEUPSEEBLZHTIIN, WRIBIASGEAE, E20FFHL, LRI K
BT B A AT -
Bl—: BT A, BRRARSE L.
B = K AT S B JE A 2 TR AR S B L, SRS BRI ASCRA 1 i B
K= ¥ FaEEME.
BIPU . FRBRIE € fEAUAE R IS LAY f ek
BT BRI AR E AE AR AR AT T
BI7S: K HUEIRRHBARAE N, SREH B A e e i i




2.2 SMRE]

3C3 PRO 20KS/30KS/40KS 4}t ]

r—soo.o [31.5]

—~350.0 [13.8]~

GRS

~——805[31.7]

AT

.::EE.:.;@DD

) ,
LJl
|®ﬂ®|@ﬂ@l@l

755 [29.7]

=350.0 [13.8]~

INFALIE

- 805[31.7]
HAE

=
B

JIRAL I

¢ , L e®e08 , o
i Lk

JE LK



3C3 PRO 60KS/80KS #Mi

e E| 1.
El
y | =] L " L. . . =i
600 [23.62] 20 [28.36)
RS HE SR
‘ jT Ti
7 R N | PR
S R i
. . . [
I I
e
i o[
.~ 600 [23.62]— =]

I JRALIE



3C3 PRO 100KS #MuL I

1876 [73,85]

-——600 [23.62}J

(IS

-~ 800 [31.50]— =

(il

600 [23.62}—

IFHLIE

OO OO

.
$LF 7 A4 T I

— 800 [31.50——
HE

JRALE




3C3 PRO 120KS #Mi &

1876 [73.85]

— 600 [23.62]—j

GRS

-~ 800 [31.50]

—
i

600 [23.62}—

IRFALIE

OO OO

.
U A4 A4 Ay

- 800 [31.50——
HAE

i 1
| I
| Z* |
=
JERAL I




3C3 PRO 160KS/200KS #Fwi [

0
| co oo
le—600 [23.62)J le————830 [32.68}——
firaE AL AL

m————830 [32.68]——=

T —
~—— 600 [23.62]
JFAR JEEAL



3C3 PRO 20KS/30KS/40KS =

800.0 [31.5]

448.0 [17.6]

GASTLE

40.‘

[e o

176.5 [6.9]
l=— 350.0 [13.8]——

RV

GRS

3C3 PRO 60KS/80KS #.(» K

1200 [47.24]

550 [21.65]

oooa

Tol o ) 1 )

e oo

— 300 [11.81H=r
.~ 600 [23.62}— =

RS

HI AR A

Fﬁ 448.0 [17.6] —

° ° . o ° ok
[

—~=——398.5 [15.7] —

- 755[297] —

- gO5[@317)

AL

CG
<
<
S
o
D
w0
Yo I
[<—362 [14.25} =
|- 720 [28.36}—— =

HAE



3C3 PRO 100KS/120KS .

1876 [73.85]

1130 [44.49]

— ]

500 [11.81)a

AL

le——— 600 [23.62]—=

5T
pat

10

OO OO

L
l~—401 [15.79]~
e 3

£

00 [31.50—— =

AL



3C3 PRO 160KS/200KS .2

1876 [73.85]

970 [38.19]

OO OO

7&.
l—401 [15.79]-=

30 [32.68]——~

£

1300 [11.81 =
600 [23.62]

GRS ALK

11



2.3 LCDERIE I

LCDIH # 2 FF AWLAZ BRI 1, @ LCD AR nT
PIXTUPSHEAT il AL ERAE, AUPSTHFHL. XML, AR
BRI WEIRE . SHAE B SRR L T I
Wimm. UPSZse)a, M XWUPSIHTA BEHS A @

L CASTLEJ

LB LCDTHHR 5¢ M. LCDTHR AL SR B AT

LCDESH. SHE =M. FEANNHRERS o | -

ARSI IRE iR N P
iT: LEDSUPSIRZEX NI EAE RIS EM R,
o REBARI: BRUPS T AR X 80k

S5k

1T
IS

l;é?o
R ETTER Ee 77
@ (2! Lkt UPSHITITHLAE LS 113
@ U3 Zith UPSHIJUEIE AR St Buds 573K
® HL b W AR, UPSHI Bk HIge i
@ 55 1% Wt UPSHisH It s 112K
6 s gryp UPSKASW, AT SEsINER, IR ek

B

«  LCDERE—O: V1R RUPSEE.

o SUEE: SRR, TR, IEE, EERAB .

R S B Thee
ITTT i 3 o o — $RA s RS R A I M
@ - BN AN, HEN N —ArE iR RS S R
2z o (7] 1) 32 S A
® v ERN ﬂﬁ%$?%ﬁﬂ?*
© A ) Rl R ik ol 2 F—

AR 2 R SR [A] b S BRI R it
@ Esc B AT E RS IRAR I A AT A N RSO A S
FH T $ Al B [n] 2R A A o

12



B3TE LKA
3.1 REBA

1) 3C3 PRO Z 717 it (1 2 B A 1 M N\ B 4 W TR AT

2) fE T PRI R 2Z2EUPS, B S KA. Wi, IR SAR . AT
AR BB ) A B

3) UPSIE® LAEM KA ETIR F B R AE0-40°C 2 A . W TAEAE40°C LA E IR
B, BESRERWEHREREGINSGC, #BM12% 8L . UPS T AR K & i bE
IR ESRAES0°C, SRR T K A3 3 TAE SR mUPSH .

4) Wt 2 ZE I AE15-25°C 2 A .
5) UPSIE 7 TAEM B 23R 1000k (330035 R) LA, G4~ {4 FI7E1000

KULE, TETRITURFAE IR 2 15
3.2 ZI=H)

3C3 PRO 20KS-200KS K M ) 72 1F 1HI X s 56 i) V& E1, 22 28 37 Ml 200 2% R 38 X )
A, [RS8 TAETHLNZ4Ed, RIb B ERE 4y =0, ZHETMSHEUT:

MR ToT = 300mmi) A 25 &]*
HLAE AT B = 900mm#) TAEZS [A]
GIGENEEY = 600mmit) {2 &)
HLAE 7 ] = 50mm ) TAFE 7 [a)*
MLAE A ] = 50mmif) TAFE 23 A

* BOKS/BOKSHLMRILEY I TR il b, 7 Pl B = 600mm ) T4t 47 4% ] o
* MR H ERUNMA S ] BRESR (<600mm) , N5 IREK AR .

* 20KS/30KS/40KS UPSHEH N1 47, === A S% LRI, HIH
=800mm £k sE, T 4E MR UPSHIRIAS s BIORE 22 A7 M 22 e == (oK, F0i R
=600mm 4zt iE . HEN B KUPSYEy MIETI AT, BARETNSF
Ko

13



3.3 PRI B L E

3C3 PRO 20KS/30KS/40KS/60KS/80KS/100KS/120KS/160KS/200KS hr it Ay 4L i,
AN, T AR S Ry B R i AR L HEAT SO R A G B D)4, BT
A ) 2228 75 A A A A AR A R B BOR N SUAT#AE, 152098 B AT LA o
T2 TSGR

3C3 PRO 20KS/30KS#4k 75\ :
1 TR B 2 3

UPSHii
UPSZ5 i A\ Neutral (N)
Phase C (L3) Phase A (L1)
Phase B (L2) Phase B (L2)
Phase A (L1) —— — Phase C (L3)
\\////ﬂl o
I O == = [ ==| «Lf
UPSIriiiA T ' ‘ ‘ g |
Phase A (L1)
Phase B (L2)
gy
— |
it -
i+

et 1

14



3C3 PRO 40KS#zZ£& 3\
1.0 P Th s A B 2 2

UPSi th
UPS355 55 Neutral (N)
PhaseC(L3) ——— Phase A(L1)
Phase B (L2) Phase B (L2)
Phase A (L1) — —— Phase C (L3)
[ [ [ 1 = N N = I | e [[ T ]
) ! ! J VIV
UPST AN I I I I
Phase A (L1) b -
Phase B (L2) Ha v -
Phase C (L3) = < = =
| ]
i+
Hth +

Pt 1

15



3C3 PRO 60KS/80KS#& A=\
2 DR ¥ v AL B 2 A A

Pt 7

©0000

A

i+

L -

—Neutral (N)

UPSZ% i A\
Phase A (L1)

Phase B (L2)
— Phase C (L3)

16

; g ®
® o e © o o
T NI
Phase A (L1) Phase A (L1) |
Phase B (L2) Phase B (L2) ——
Phase C (L3) Phase C (L3) ~—
UPS#HitH UPSTHT HL 4 A



3C3 PRO 100KS/120KS#& A5\ .
3. Th A1 S L 2 A

Neutral (N)
ar Phase C (L3
UPSHEHMIA prase s (Lo
Phase A (L1) —
—/_“>
/r/ °
_—1
:Io ©o o o ¢ © ¢ o o o 9l
| {0} {0} {0} (o iu:»io o) {0} {9} |
°lo| |o] |o] |o lﬂﬁ@ @ﬂ[‘[o o| o] |¢J°

BEHL T //Kif%%T
\o o/

N

© [)

o ol ‘ 0/© © ”
|| | I — _\__—///
Phase A (L1) | Hjth + L— Neutral (N)
y Phase B (L2) - — Phase C (L3) N
UPSSiilt phase ¢ (L3) ———— i L PhaseB(l2) UPSTILAIA
Neutral (N) Phase A (L1)

17



3C3 PRO 160KS/200KS# %4k 775\ .
4.FH 7 oh A B 2 A A

UPSHii th
Hh - Neutral (N)
F It +— Phase A (L1)
Phase B (L2)
— Phase C (L3)
I o
= e — T ——
Ho8 [o] ’0‘905_9|os_90[5
—
[ 1 [ 1 [ | [ 1 [ 1
—
° o

N ELE Y|
= ERRERRLY T

(N

Neutral (N)—
Phase A (L1) Phase C (L3)
UPSTIiHi 4 A Phase B (L2) ———— Phase B (L2) ypS 5%k A
Phase C (L3) Phase A (L1)
BB
© IESLWMINEARIREA3ME4%, REREELFHNBABREEERN (MR
—)

- WANRIREFAEMERF, BMRETIZ7ESE,

18



3.4 3C3 PRO R%|UPSE&EFFIPES

3C3 PRO AR FIUPSHMEH I B R & R IER IE M & —HAMFEF =R HEILE (12V
BT . 20-80kVA, 28-36711,E01A 3275, FrfRH & N336V-432V; 100-200kVA,
36-40°17, BRINAOYY, ARFRALEA432V-480V . & ATARYE by 20k £l it 1) A &
FAE . b AUVERC E R BT R N PRRS, H IR AR R S R 3R A
HEL DO s R R R 3 AT ik 3, RO P 555

A 0L
SHIEC

e

MER

KVA 20 30 40 60 80
62040-1 kW 18 27 36 54 72

BN/ HBE Volts  400/400 400/400 400/400 400/400 400/400

ACH N i BRI

tﬂg(g)ﬁ 1RPE, 1R Amps 31 46 61 92 122

St min mm? 6X1  6X1 16X1 16X1 25%1

(A\B\C\NZHAE)  max mm?  10X1  25%X1  25X1  50X1 70X1

ERMAHEAT

tﬂj(;r)ﬁ 1R, 1R Amps 29 43 58 87 116

St min mm? 61 61 16X1  16X1  25X1

(AB\Q\NZHE)  max mm®  10x1  25%x1  25%x1  50x1 70x1

DCi NHif

(325t ol

wgg)ﬁmﬁéi, 118 2 A?n?)s 46 69 92 151 202

A A min mm? 6X1  10X1 16X1 35X1 50X1

(IEAR#A 524R) max mm®  25%x1  35%x1  B50X1 50X2 T70X2

ACHIHTR

ﬂﬂ(z;r)ﬁ 1iRH%Z, 1R Amps 29 43 58 87 116
, min mm? 6 1 6 1 16X1  16X1 25X%X1

i 2R AR

(A\B\C\NZ#HE)  max mm®  10X1  25%1  25X1  50x1 701

i 1.01%

gk (N) 1.71%

19



oA

B o8 B S
ANEFE 52?)':2'5-(1: kVA 100 120 160 200
KW 90 108 144 180
BN/ mHEE Volts  400/400 400/400 400/400  400/400
ACHI NiwE TR
G, VRBE, 1iRBE) Amps 154 187 248 309
Sk min mm? 35X1 50X1 70%X1  95X%1
(A\B\C\NZ #11&) max mm? 95X1  120X1 150X1 240X1
== SHE R S
e ) Amps 144 173 231 298
Sk min mm? 351  50X1 70X1 95X%1
(A\B\C\NZ& #1#&) max mm? 95%X1  120X1 150%X1 240X1
DCm AR (40T HEth) Total
(1HRIE#hZ, 11RHAMLZ) Amps 206 247 330 412
A A min mm? 50X1  70X1 185X1 300X1
(IEARFA514R) max mm?  120X1  150X1 400X2 400X2
ACHI H R
(fi’at,ﬂ'?%fzg, 1R %) Amps 144 173 231 289
iy min mm? 35X1 50%X1 70X1 95X1
(A\B\C\NZ #14&) max mm? 95X1  120X1 150X1 240X1
i 1.0fi%
% (N) 1.74%
i

1. B EIE R UPS I A AU BC L 28 Gt HH 22 2 2 AU L ) = AR A i O 9 3¢
B, WA A, NZRIT G n] e A

2. ERMABREIT100AN, PRI SO RL AU A KINAEE, & i W
Fe e FIULIAIE D i 275 0T

3. HMMIE/fAZAE: RoNUPSHHMARRCLLAE, IEHMOVLL G, SN BB L

20

Rk (IE. fa. ) BATKEEMFE, @il 2 40m.



3C3 PRO 20KS\30KS\A0KS UPS#5f F il 422 4% g 1~

oo WE M BAWFERT TR e
T =4 N\ 2 L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?*(M6).
i L2 Phase B M6 bolt mounting 5 (44) 28.26 mm*(M6)
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?3(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm?(M6)
T HL T A\ 2] L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?(M6)
55 L2 Phase B M6 bolt mounting 5 (44) 28.26 mm?*(M6)
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm*(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm*(M6)
UPSHi i 2| L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?2(M6)
U L2 Phase B M6 bolt mounting 5 (44) 28.26 mm?3*(M6)
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?3(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm?3*(M6)
B - Battery (+) M6 bolt mounting 5 (44) 28.26 mm?(M6)
- Battery (-) M6 bolt mounting 5 (44) 28.26 mm?*(M6)
FP# Ground M6 bolt mounting 5 (44) 28.26 mm?(M6)

21



3C3 PRO 60KS\80KS UPS#IM HL il 422 £k i 1

ST mF mE BEWTNRY TRET e
il Fﬁiﬁﬁ)\ B L1 Phase A M8 bolt mounting 15 (133)  50.24 mm2(M8)
#it L2 Phase B M8 bolt mounting 5(133) 50.24 mm*(M8)
L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?*(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm*(M8)
7 HL 5 A\ 2] L1 Phase A M8 bolt mounting 5(133)  50.24 mm?(M8)
54 L2 Phase B M8 bolt mounting 15 (133) 50.24 mm*(M8)
L3 Phase C M8 bolt mounting 5(133) 50.24 mm?*(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm*(M8)
UPS’iﬁﬁ i 2 L1 Phase A M8 bolt mounting 5(133)  50.24 mm2(M8)
Bk L2 Phase B M8 bolt mounting 5(133) 50.24 mm?(M8)
L3 Phase C M8 bolt mounting 15(133)  50.24 mm2(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm?3(M8)
HiA + Battery (+)  M10 bolt mounting 24 (213) 78.5 mm2(M8)
- Battery (-) M10 bolt mounting 24 (213) 78.5 mm?3(M8)
F ¥ Ground M8 bolt mounting 5(133)  50.24 mmz2(M8)

22



3C3 PRO 160KS/200KS UPS#k T FL U 4% £k iy

SrwmE o owe mmmEeRd TREN g
FﬁFE-fFﬁJJ\Z;EU L1 Phase A M10 bolt mounting 24 (212) 78.540 mm*(M10)
i L2 Phase B M10 bolt mounting 24 (212) 78.540 mm*(M10)

L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
T HL A 2 L1 Phase A M10 bolt mounting 24 (212)  78.540 mm2(M10)
54 L2 Phase B M10 bolt mounting 24 (212) 78.540 mm*(M10)
L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
UPSiﬁﬁHj@J L1 Phase A M10 bolt mounting 24 (212)  78.540 mm2(M10)
Bk L2 Phase B M10 bolt mounting 24 (212) 78.540 mm?(M10)
L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm?(M10)
HiA + Battery (+)  M10 bolt mounting 24 (212)  78.540 mm2(M10)
- Battery (-) M10 bolt mounting 24 (212) 78.540 mm?*(M10)
F ¥ Ground M10 bolt mounting 24 (212)  78.540 mm2(M10)

23



FHEEF 1A B N W 6 2 i L B 9 2 20 (L

oS B EE
UPS &1 &
AR &N 400Vac
3C3 PRO-20 80% &% 38A
100% % E 31A
3C3 PRO-30 80% [# i 57A
100% #iE 46A
303 PROAO 80% &% 77A
100% %ii%E 61A
3C3 PRO-60 80% P#%j 115A
100% i E 92A
3C3 PRO-80 80% &% 153A
100% % 5E 123A
3C3 PRO-100 80% &% 192A
100% %i5E 154A
303 PRO20 80% %% 234A
100% % 5E 187A
3C3 PRO-160 80% [#%i 310A
100% %l 5E 248A
3C3 PRO.200 80% [#%i 386A
100% %l & 309A

24



FHEER 1Y) 55 ik W 6 s L 55 % DR o6 22 355 {HL

W7 B 2% RG22 S8
i E B E/min 400Vac EiE B JE/min 400Vac
UPS 15 E R BN FLi7E/Min 12T/Max
3C3 PRO-20 40A CukD 40A 10200A*Sec
3C3 PRO-30 63A CakD 63A 10200A*Sec
3C3 PRO-40 80A CakD 80A 20400A*Sec
3C3 PRO-60 125A CakD 125A 72500A*Sec
3C3 PRO-80 160A CukD 160A 72500A%*Sec
3C3 PRO-100 200A CukD 200A 202500A%Sec
3C3 PRO-120 250A CakD 250A 202500A°Sec
3C3 PRO-160 300A CukD 300A 225000A°Sec
3C3 PRO-200 400A CukD 400A 225000A°Sec

25



HERE I LR T % 25 80E 18

172 FLFE/min 500Vdc 600Vdc
UPs T2 SR s s
23 PRO2G 80% 4 63A NA
100% #i5E 50A NA
80% 4 95A NA
3G PRO-30 100% il E 76A NA
23 PROMG 80% W4 126A NA
100% %l e 101A NA
+e3 PROGO 80% [ 189A NA
100% i 151A NA
+o3 PROLED 80% &4 252A NA
100% %5 202A NA
2e3 PROM00 80% 4 NA 257A
100% % NA 206A
80% 4 NA 309A
9C3 PRO-120 100% %5z NA 247A
80% 474 NA 412A
9C3 PRO-160 100% #i5E NA 330A
£C3 PRO.200 80% W4 NA 515A
100% #i5E NA 412A

26



3.5 Fil%%

3C3 PRO #JFIUPSEA HELI B Ihae, RFEHINL GEGM) &8 LLiEiT2
BA4GUPSHFEL, KRSLH Ao (N+X) o HlasEfpfr¥F£E10embl |,
B UPSHIN Z FLZEBAE FAL BUZR BoR . 2% & UPSHISHI N4 HiZiEz B [7— N
N, SR A BRI LR gk, WL N EDR:

T H B N R 2k A
UPS1 UPS2 UPS3 UPS4
5 B T B |l B
10 — 0 — 0 — 0 ]
= % . | .
‘ ‘ iy H B A A
B E
\ﬁ ﬁ"ﬁ g 113
iE:
1. 20-80KZ#HFMAEHVLHBEMA, SHAMLAEAR— RKE—ESF—HRA
e,

2. WNMHEZKEEX:

@ HEAUPSHIWIAN (o) wmEWAN (GdH) BXEEM5IZKDT20XKE, EXE
KRKENF20%:

@ HEAUPSHIMIN (HidH) WmEWA (i) BEEESIZKKTF20XKE, EXE
ZKE/NIF10%.

27



3N LA
3C3 PRO 20KS/30KS/40KSH1#

INPUT (MAIN)

[N e[ 2] i3] sp L] sp 2] BPL5 BAT+ [ BAT- JopLiJop2JoP 5] N ] [ G [ 6 [ G ]

[N [ttt e L] sp 2] B L3 BAT+ [ BAT- JopLi]opi2JoPis] N | [ G [ G [ G |

UPS1 I NIB ]

UPS2

11

OUTPUT (MAIN)

3C3 PRO 60KS/80KSHL##

BAT
% ﬁ G
NFB

INPUT (MAIN

[ 6 [ G ]G | [Bam+]mT-[ N JOPLI[OPL2

OP_L3

BP_LI [ BP_L2] BP_L3[ IP_Lt [ IP_L2 [ IPL3 |

[ BAT= [ BAT- | N Jop_L1]oP_L2OP_L3 [ BP_LI] BP_L2

BP_L3

LI P12

P13 |

L

OUTPUT (MAIN)

[

28



3C3 PRO 100KS/120KS#1#

TV PUT CUATK)

o Torte T3 [N Toeli o2 [y [l [z 3] ¥ ] [ [ N N I O 2 O I I e NN

BATH BT
0 UPS 1 ™
[ w [ w
|

o OUT PUT (WAIN) BAT2
el et iy r=E==l=n
I I [ TR E‘j |I‘j NIEEE
\ \ I
[ } A |
N I (I I
[ [ w

(B [ [ N Joptt Joriz Joris | [ [ [ | (Bt {BJ\‘T— [N ot [eelz Jooms | (s ]¢ [6 |

[ v i ]moe Jis et [z [ris ] [ v i iz Jmeis [eeL [wis [l ]

UPS 1 UPS 2

INPUT (MAIN)

29



3.6 HE B EIERUPSAYL IR

FLBAE 5 UPS 2 (1] 5% Wb 22 25 40 528 JRASE 1) ol v B3 T it 2, ELAAAS vT L —%
IR £ 25 .

B ARUPS I 4 N it S AN A17 B, A0 g R TG FE R i i

B f R E T “OFF” IR

3. SERUPSHEm T HEmARITIT, X5 R UPSHn 7 HES] H A HIB+. — 2R3 NI
PUREIAE ER+. — 2k, UIZ0R i I R

4. MR (CERAEER Sk foi e g f s PUR s B f, B O 1 AR
ZIERE, & B

i BMHERSERNAERFZXIRESTEHT, mEFRUARIETWALAR

., SNSFREER,

N -~

30



FA4EF BME
4.1 BRff|IRE

1. WEA. By C HIEAMFERZ LN, AJEEHFIUPS.
2. A LW IR (B EUPSH P+, — 5o+, —R——XR).

3. A LUPSEM “HAJrR” (HHERBAIR) , I XHEFEshi#TUPS B,
24 PP BN TSR, IRJE R ZI S S s R AR

it: KA3C3 PRO 8BOKSAHKI, UTEHHEASEE.

)& EUPS [ “di ANJFR” Ja, HlasENE, 20 dEAEFRIH
A 158 WA fub i A BE N T3 5 LI

SANTAK LOAD: 0% BAT: O

3C3 Pro 80 KVA UPS

UPS SELFTESTING
PLEASE WAIT A MOMENT

CASTILE

O

ESC

AR

|/PVOLT: 226 225 226
O/PVOLT:0 O O
O/P FREQ: 0.0 Hz
STATUS: Load Off

CASTLE

o[elele

31



3)HH% N VR LA 2| LT Bk} 4)HHZ N VAT USRI LR SR

OUTPUT PARAMETER INPUT PARAMETER
RN SN TN RN SN TN
Vout: OV OV 0V Vin: 224V 222V 224V
lout: OA OA O0A lin: 0 A OA O0A
FREQ: 0.0 Hz FREQ: 50.0 Hz
CASTLEL CASTLEI

ESC

AR

000 || &

5)f4% WA LAS B LU Bk 6)# 4% T VT LA 2| LT SR
BYPASS PARAMETER POWER PARAMETER

RN SN TN RN SN TN

Vin: 222V 224V 225V KW: 00 00 00

inm: 0OA O0A OA kVA: 00 00 0.0

FREQ: 50.0 Hz

CASTLE CASTLEL
ESC | | A | | YV | | ESC | | AN || YV ]| <Y

32



7) % N VR PSR LT Bk

8) 1% NV R LA 2 LT Bk}

PF PARAMETER
Input PF: *xx
Output PF: ***
Bypass PF:  ***

CASTILEL

ES@

Q Q Q

BATTERY PARAMETER
VBAT: oY
IBAT: +0.0 A
CAPACITY: 0 %
BTR: 0 min
CASTILE_

Q Q @

ES@

O)FF 4% T W H T LA 3 LA T %k}

10)Fi4% T W R T LA 3L R 0

STATUS DETECTION

Power Supply: Normal
BATT Status: Normal

CASTLEL

B

MODEL AND SERIA
CTO:
3CX08CCH0412010
MODEL: 3C3 Pro 80 KVA
SN: 41.263LAA0T

CASTLEI

Q Q Q

ESC

33




1) 4%~ VR LIS 2] LU R 50k 12)f4% K V8] DS 2 DL R B

CSB APP: 3.00.0000 STS

CSB BLD ’IOOOOO’I _D ....................... E
UPM APP: 3.00.0000 REC INV

UPM BLD: 1.10.0002 —- - >
UPM PLD: 2.06.0000 BAT é

CASTLEJ CASTLE

008 || BRRE

O

ESC

34




4. TS LB E

1)RENFE ] A 2)1%Z FENTER#
= CONTROLS 2 UPS CONTROLS
CONFIGURATION UPM CONTROLS
HELP BATTERY CONTROLS
CASTLE CASTILEY
gleiele Ol OO O
ESC A M <J ESC A M =
3)iLFEITHL A )i NS AT TTALEE N 3 1
=  To Normal
To Bypass
ECO Enable S ENTER KEY: ****
CASTLEL CASTILIEL
gie@]e D] 1O
ESC A M < ESC A M =

35




)ik R G AL B)Ff I\ RS

To Bypass CONFIRM
> 4 Load Off Load Off
ECO Enable NO, CANCEL

= YES, CONFIRM

CASTLE CASTLE

0Q8 || 9ORE

O

ESC

ESC

3C3 PRORFIUPSH LT A NIRAS N B FAL AR, mARAILT 115 B LAY
W T, 4% 1 T B s AT $AT BV ML

@. FEUPSHHHAT, el By vaet A
BN IE . . NZ&5UPSH) Iz
MBS

BAMENTER

TELCD5E K H #5400 4 F-sh a7 T L 4

@ ® e

36



5. € U, R POEENLES FITHLE RS, HEABCE M, #EAT L R R ROE -

1)i% BB £7 150 E T8 2) I 1A A5 Ay N T
BEN B VLT 5
DRI N EIAYNIAT
BENZES N 53 %€ UL -

CONTROLS USER KEY: ****
= CONFIGURATION = SERVICE KEY: ****
HELP
CASTILIE_ CASTLEL
ESC AN Y < ESC AN Y <
3)H 7 € DL THI A T LR TR T T
= Auto Start SETUP RETAILER PHONE
Control PW = PHONE:
User PW 0000000000000
Retailer Phone
Clock
CASTILEL CASTILIEI
ESC AN Y <A [ESC AN Y I

37



6. &N 1E

1) COEE LS TPl S, BN 20k 5 2) 25 i) G T
CONTROLS > HOTLINE
CONFIGURATION MAINTAIN
> HELP ALARMS
HISTORY LOG
CASTLES CASTILEL

O

ESC

ol

O

ESC

Slele

3R I5 R 5 A T L TR A S

SERVICE HOTLINE

SERVICE CONTACT

8008303938
4008303938

0000000000000

CASTLE_

O

sjs]e

ESC

38




4.2 FHRE

AL NS TR S AN RS T

USER KEY: ****
= SERVICE KEY: ****

CASTLEL

oe]e

O

ESC
2)HE N FFHLBE T 3)FEHLZSH I il
Bypass = NUM of UPS: 1
Battery UPS ID: 0
S/IN
= Parallel
Signal Input
CASTLE_ CASTLEL
OO OO OO O
ESC N M < ESC A M =

39



552 BEfAE

3C3 PROAFNUPSHEL 1 I i dlit . FFHL#%E 1 (RI45). REPO JA L w BA 2~ 7] #%
BURHARN 515 H I SERVICE i 43l 13 H

3C3 PRO 20KS/30KS/40KS

-

] 1 I ]

B

I EERD

3C3 PRO 60KS/80KS

| ] (J 1 Mini-Slot &4 B 1
|

2 Mini-Slot F il &1 2

FALRE (R45)
FRERERAN (R45)
INESERT
REPO 27

T hEEEZD

(= S L

40



3C3 PRO 100KS/120KS

]
AEEED T s

L | | Mini-Slot AL E# 1
REPO 55 F 6 s |
HLERRT 5 ]

FNEEHN (R4) 4 1T |
NP | : ini-Slot 1 1 &
HLEREE (R a) Mo R R

]

3C3 PRO 160KS/200KS

N A
: : I Mini-Slot # 4"t 1

IHETED T

REPO 3T 6
ANEESRT 5
gL (Rj45) 4
FNESSRY (Rj45) 3

: ; 2 Mini-Slot & #l7" & # 2
I_S° _

1 (2) . §JEdftE: 20KS-200K ¥ ic A M, REELaRe R KA, AXhr
FCH P T I

3. HHIELI(RIA5): FEHLLitt . FEHLE I, FEHLEIRZ R, 20KS-200KSH]
SEIA S FEHL

41



4. ML LI(RI45): FEHLEZLHIN .
5. HHLEE T - MEHHIRUPS RS, SMIENIIRE EIEZIF IR S .

6. REPO : BZxHLIFxR, RMEABRSRITFRAF, o] DLEHE T B 5 W
UPSHir i

7. SN BEARAETIAE AT A R A A S R B UP SAH ML % M ¥ 1
NP 1} i ’.ﬂ}%&jh_#hi%z B AR %EEUPSE@D%?Z@V&% %
WG L IEFE o« BRLLCD AT DI BRI 1 i 5 e AN [F] (AN ER 7 B 2h e (A FR

IR A S e L, 1R FT 1L F400-830-39385800-830-3938 %5 R AR 55 A
2]

FENLZE A% -
i1 2
O O .
1. Pull Chain+
! 2. Pull Chain-
Pull Chai Wit FNLRE &M IEHIES
REPO#M i #28 1&] it B «
EaFE —
ol0 0 0 0o Ol Y & JIo
1l 21 3 4 23] 4
— 1T - I_____\__;_FEF'
| — EPFE |
| J | === |

1-2 M E%EE, FH—BELAFEiEH
1-2l & /F, UPSHUITER2XH. 3-4RE&E. 3-43TFF AT, UPSHITE A XH.

42



PiRVIRESS AR

TEEm.

FHLARG, 5 UPSHIH 2 2SI AT B HE YR A 3 50 L 264K B N B HH 31 40
AL S TR E RN Z— 8, KBNS T R PLRIE R & UPSH 4
NP S H BEPTULED, BHPTIR ZE £10% LN . XN TIAFIFEUPSHI IR
R . EUIENLR S AN A KRR T10K ANt 25 5°K
MK 1A=2A=3A=4A

1B=2B=3B=4B

1C=2C=3C=4C
MR 25 UPSHEL (TUAR) , PLEERZEEDLIR, HESHmM)ESH
G
IRIFNL R G B G UPSIFR S 55 B8 M A2 Rl — A JL g1, T [F— AN o156 55 2 Wi

B IARIFFHLR G % G UPSHY B A2 SR 1 C H H iR, 3 &0 L5
R DR BE P AR 2

TERMINATING TERMINATING
JUI%R RJ-45 CABLE RJ-45 CABLE RJ-45 CABLE JI%ER
1 — —1 1
[N [ [ out ] [N | Tout ] IN ouT [N | [out ]
cN3 L———cne cN3 L—— cNe cN3 L———cne cN3 L———cne
CAN BUS CAN BUS CAN BUS CAN BUS
UPS 1 UPS 2 UPS 3 UPS 4
PULLCHAIN PULLCHAIN PULLCHAIN PULLCHAIN
CN4 CN4 CN4 CN4

2 [ 1 2 12 o« 2
1 l [ )¢ } I

LR - AT FEHLE

43



TERMINATING TERMINATING
JUIEIR RJ-45 CABLE RJ-45 CABLE RJ-45 CABLE JI%IER
[ IN | [ outr ] [ IN | Jout ] IN ouT [ IN [ Jour
3L———Icne cN3 L———Icne cN3 L———Icns cNe L——I¢
CAN BUS CAN BUS CAN BUS CAN BUS
UPS 1 UPS 2 UPS 3 UPS 4
BUILDING  PULLCHAIN BUILDING  PULLCHAIN BUILDING  PULLCHAIN BUILDING ~ PULLCHAIN
ALARM CN9 CN4 ALARM CN9 CN4 ALARM CN9 CN4 ALARM CN9 CN4
1 2 1 2 T 2 12 ] 1 2 T2 T 2
TWISTED
PAIRS
CUSTOMER
TERMINAL
BLOCK
CONNECTIONS
3l 2 4] 25 9] 8 10 26\ 15] 14 16] 27 21| 20 22| 28
1 6 7 12 13 18 19 24
NO‘ NC NO| | NC NO| |NC No| [NC NO‘ NC NO| | NC NO| |Nc| [M] No| | Ne
(o)
coM COM coM coM COM coM coM B |com
5 11 17 al =
TIE CABINET

TFHLERAR LR B T AR

44



566 B EHHNE
6.1 BT g

BiZBM2E3C3 PROZRA™ MBI KA L RIS (HAR1.0mmE 7Y, A2 &
JRASEE ) BRI, fEUPSEIARE AT RERTE, 2ARTTE, B IR
i

3C3 PRO 20-40KS k42 M7 7 -

[ )j‘/l\ Iﬂ

3C3 PRO 60-200KS; 2 M7~ = K-

B 22 kA




6.2 im/EERES
P ARG iy s A LK ARG B0, il P A% s T DR IS At 00 P e i P P A2 A

W AELCD s B T 3 76 B L s i BEAMER A DI fE, b 7e sl i i U 2= E 3R 3,
MR o FEL T ) A 75 1o

6.3 i \EEIR

3C3 PRO %%1120-80kVAZ 5 AT IARHE 2 753K, 18 I B AL B 25 (147 FE R Wk 2R K A AT
FAT X FEL R B N SR B R R AN

46



BT E iz, P SHERRR

#RIZEUPS

RIS AP BT UPS 8z #E %

TR BTFUPSTRE, FEHKIRE (MXFE) #HITHEE,

1. RHMISUPSHEEM A s, JFIFERUPSHG 5 HEK T IE#R L.
2. CRUPSTH HLIT IR K BB TT KRBT o

#IP SR
3C3 PRO #41UPSH TR I4Ed .
1. WCRWITIbIER, SERBERAZEBRY.

2. IEWEOLR, WRKDEIIROUAEE, WA 2R AT S e, A S BN P RIS
LN R BT, AP AGEEARE, HEE:
AE B LT, 7 R PUPS I B 1l
B M nmiE . FRZRM &R
C. Ml I A AR LL )], 152708 T B s L fth 4 )8 4 U 7E it B DA% Jid 7 51
i P B i R LT R
D15 Z7) % BRI IE F A A e B e

3. FLIANELAN IS, AR T S B ST AN R RN, IR RBUN
NRTER

4. VERUPS HUALAIE KU, 1S54 R -1 17— O AR XU Fr) a8 A fL Ak
R4 BT AT Se W T iy B S BT TS .

R HERR

IARA R Z TR ERE, BELU N DREA:
1. UPSHi A\ LR 75 LA 7

2. FrARORY WA A2 S WO

3. HIAFLILAE BT A A ER ?

BZE AT “SREIRER” DM 0“0 52 HER7 S TiE
EPOSEY

47



SERER

| 75 KmERSARERE 3B iE
SN ECGEAR R R NAREAUE
R AFLZ 2 L. fA

“HRET TR, FIRKE L R T 2
) Rt ISR A b I
bRk U 2 15 Bk L 4

CHRE” IT 5L, SR UPSH

o A ) T e B TR 5 5 L R

it /3L T Jo

LCDMA A5 s 744 K HXESCH3F), LCDAZLL.

A N BORAEAE, TS IR RO EC R 400-830-3938 (F4l) /800-830-3938
(), S BRAELIME R

UPS #i%5 ., CTO 5. HlLEditS (SIN) ;

- SANTAK i 7~ GEMD A

: 3C3 PRO-20KS &%R: - 8E7EBiR
?ﬁ)\: AG380/400/415V 3W+N+PE, 50/60Hz, 32/31/29A, lcc:10kA
=g AG380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, lcc:10kA
B AG380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, 20kVA/18kW
Ht: DC384V 51A lcc:10kA (ERIEREM)

9106-52240
ra P OO
9106-52240-XX fg @
Pz A —
el 3CN02CC50412014 AP AT Y AR
U, 22
Py JLE b BE (L) BERAWMERRS
s
iR R A H

SEEER ] (EAELCDIE R . R Bon . iy as g ny 55l . o1
Ul TEBEES) .

48



iR — RS H

pile=1 3C3 PRO 20KS 3C3 PRO 30KS 3C3 PRO40KS 3C3PRO60KS 3C3PRO 80KS
HNERE 20KVA/18KW  30KVA/27TKW  40KVA/36KW  B60KVA/54KW  80KVA/72KW
MAAR ML
S 42 - 72Hz
hEEH >0.99
PN £ 230/400Vac (220/380, 240/4157] %)
THREAEEE 190/330 ~ 276/478Vac (-15%, +20%) , 100% %%~

116/201 ~ 276/478Vac (-50%, +20%) , 50% 1%~

%7E230/400Vac (220/380, 240/4157]i%)

FHRAEEE  ))7/350 - 253/438Vac (BT HAIE HIE+10%, Bk [ +20%)
E R E 230/400Vac, 3 + gk + Hizk, (220/380, 240/4157]3%)
HEREH 0.9
Wl giiRE (42-72)Hz+4Hz
. 40T T, 102-110% 114604 4, 111-125% 7410404, 126-150% 11
= A4, >151% Fi 415022
. WEE IR T 94%
ME -
ECO#E= 98%
INMEIRE 0-40°C
. EERE —15 ~ +55 CAR Y2 5E U S L
ERIRE —— -
INEIRE 5-95% , Tkt
BREE HTIHM1000K N EREAL, #2000k, 1000k DL & E1002K, FE411%
i L
BIRENS o0
1 EnmE RE RuF
WS iR <40°C
B (RN :
EEFISE FHREE <70% RH
EROHLEAE : y
=ne | Hf EEA G AR AT
U RN BRI S ANFT & LIRSS, VAR S PR A A T 55 5 T PR A A2 1]
AR E/ .
~ L
b 336V (168 Cells) ~ 432V (216 Cells), #kiA384V (192 Cells)
. EE(FRE) 61.5 Kg 67 Kg 93 Kg 177 Kg 184 Kg
T zmE(Femi)  87.5Kg 75Kg 101 Kg 223 Kg 230 Kg
ﬁ*l}}eifiﬁj 350X 805X800 350X805X800 350x805X800 600x720x1200 600Xx720x1200
(E*FE*S) (mm)
e ERTE GB4943
R TLGAIE YD/T1095
ESER 7 GB/7260.2
c EBRAR IEC/62040.2
EM
gL KEGBAFEZERESRMELA T AR, 7S ESLEZ 25 R H 3B N+ 56 LU &
578

49



A S HIER

B 3C3 PRO 100KS 3C3 PRO 120KS 3C3 PRO 160KS 3C3 PRO 200KS
MERE 100KVA/Q0KW  120KVA/108KW 160KVA/144KW  200KVA/180KW
BANFR AR+
E 42 - 72Hz
NEREH >0.99
PN #i52230/400Vac (220/380, 240/4157] %)
TmHEBEETEE 190/330 ~ 276/478Vac (-15%, +20%) , 100% %k T
116/201 ~ 276/478Vac (-50%, +20%) , 50%fi#k T
" #i5E230/400Vac (220/380, 240/4157] %)
FREEEE  5)7/350 ~ 253/438Vac (B TEEAUE BIE+10%, Bk +20%)
HEHE 230/400Vac, 3HH + 2k + HiZk, (220/380, 240/415W]i%)
INEREH 0.9
Wl ExiRE (42-72)Hz +4Hz
o ] 40°CHILTF, 102-110%11 2604381, 111-125% %k 1045047, 126—150% %k
= 19545k, >151%11 #1505
. WEEHRIE T, 94%
MR
ECO#EZ 98%
INEIRE 0-40C
| TR E —15 ~ +55 C Ry 25 e T HITE L R
ERIRE — -
NERE 5-95% , Tt
BIREE WP 1000K Y T840, £ 42000k, 1000K LA AT E1002K, B4%5i1%
FhE s EW
Em&%'ﬁ: TTRAN
1 ELAIE R& Kby
WSTER FAERRE <40°C
B (REN——
BEFISE FHREE <70% RH
B A _ -
mag)  Hft AT R A R AT
USRS 1 SERRAFAE AT A L IAAE IR, T MR S BRAT A A 45 337 YA A7 A 1]
FithFRAR R E/ .
~ ’ %V
i 75 L L 432V (216 Cells) ~ 480V (240 Cells), #£i\480V (240 Cells)
- HE(REH) 283 Kg 311 Kg 457 Kg 457 Kg
= EE(RamRM) 351 Kg 379 Kg 525 Kg 525 Kg
2Rt
i X X X X
(B (mm) 600X 800X 1876 600X 830X 1876
=g EREE GB4943
PE  TLGAE YD/T1095
[E R tRHE GB/7260.2
E FRERE IEC/62040.2
EMC

BE AERBTEZEMEFHBLMT AR, 7§85 R 5% RIS N e L

L8708

RN T HEEFRIRES LT HE BB A SFEBIKFHIA

50



fIR— NI SSMEER

\

E‘z p— ERERITETR —_—
= SEREKT  THERAT  BTEAT  ERAT HEAT
1 T

T ° o

B ) () o *
2 R

1B [

& o ° *
3 HI

% [ °

o ) ) () *
4  HJBECT

B [ [ °

EF [ ) [ ) ) ) *
5 TiHRECT

T o o )

=F [ (] ) [ *
6 ECO s

B ] (]

E o ) ° *
7 LOAD OFF

B

H ° *

LA IS DL B BRI RIR L, 55 A e s LR R S IR A
® FERAT ST

e NS g5 TAE 11938 - N10.5S, ##EL2.5S.

HARMRAE BB R B RN

51



¥R = 4EIZ{RIUE

ANFEE: BMILZAE, AEREZFRHERERS,
L A ROIE IR 5
Tl B e 5 IR 2

FEREIMEE s P, A P&, blds kA dE, iEstic 54
AT IRR .

>
)
P
<d
A
=

EALBAR, BEFMTRS:
=AERE CE ALRFI SR LD
2 4 /NIRRT B (IR S Y AR AR A 5 B 5 AR RS
IR IR E;
LR R 55 S
UPSTRIZII A F2 (5 2% BT T4EIZIRSS -

ZEUATER, TEREEENRN:
NI
i H DR AZ IR 5
P a5 S e R
EIRNEEREVSE A 9GS EIRE eI N K
REFWIFR], BATWUPSHIAIME . SCR B N e fo i id Rl ) b s
ARAKUPS H SRS L E B 11 L 2% R BRI 3R B0 F T 3 S50 e e
o P Tt RS S8 TS F B N s AR IR o

52



53



Thank you for choosing SANTAK products!

Please adhere to the warnings and instructions specified in the manual and on
the equipment, and keep the manual properly for future reference. Do not try to
operate the equipment before reading all the safety information and operation
instructions

The manual applies to the 3C3 PRO series, including:

3C3 PRO 20KS

3C3 PRO 30KS

3C3 PRO 40KS

3C3 PRO 60KS

3C3 PRO 80KS

3C3 PRO 100KS

3C3 PRO 120KS

3C3 PRO 160KS

3C3 PRO 200KS



IMPORTANT NOTICE

Supervision Code Statement

To ensure consumer rights and safe electricity application, help you purchase
authentic SANTAK UPS, the following items should be heeded:

1. Make sure of @mSANTAK® 45"

2. SANTAK Electronics (Shenzhen) Co. Ltd. never grants authorization in any
form to any company to manufacture UPS;

3. Labeled on all SANTAK is an “electronic supervision code” ( “electronic
supervision code” is a code of product identification advocated by SIQSAQ in
order to strike at fake commodities).

Inquiry method:

Website inquiry: Access the website:www.95001111.com (Product Identification,
Authentification and Tracking System) and input the supervision code;

Tel inquiry: Call 95001111 to check (you may call 010-95001111 and follow the
instructions to enquire the identification);

Message inquiry: Send text message to 106695001111 (available to both China
Mobile and Unicom);

Any questions, you may call the telephone number at 95001111 or log on to
www.95001111.com. for further details or lodge your complaints.

Copyright Notice

SANTAK is committed to technological innovation as it continues to deliver better
products and services to customers. We reserve the rights to modify and update
product design, technical specifications and user manuals without further notice.
Actual products may differ from pictures shown in the manual.

The latest version of the user manual is available on www.santak.com

All Rights Reserved © 2019-2023 SANTAK Electronics (Shenzhen) Co., Ltd.



Safety Instructions

General

1.

Please read through the Safety Instructions carefully before you start to
operate the equipment and keep the manual well for future reference.

Please pay attention to the warning symbols and follow the instructions in the
manual during operation.

Do not use the equipment in direct sunlight or rain, or in humid conditions.

Do not install the equipment near any sources of heat, such as heating
devices like electric heaters or furnaces.

Please make sure there is adequate space for ventilation or maintenance
around the equipment. Please follow the instructions in the manual for
installation.

For the purpose of cleaning, please use dry and non-conductive tools to wipe
down the equipment.

In case of a fire, please use dry powder extinguishers. Liquid fire
extinguishers are not allowed.

Please make sure the floor on which the equipment is installed is strong
enough to support the weight of the equipment with battery.

Please make sure the total wattage requirements of the loads do not exceed
the power rating of your UPS or the capacity of the battery.

Prohibited Activities

1.

Having service personnel without authorization from SANTAK to open the
UPS cabinet, which contains lethal voltages is not allowed. Unauthorized
opening may cause an unsafe condition, and will void the warranty.

Applying the following types of loads , the application, configuration,
management and maintenance of which may be subject to special
requirements, please inquire from dealers or SANTAK in advance:

A. High-precision industrial, scientific-research or medical instruments;

B. Facilities of which malfunctions may lead to life-threatening situations,
such as elevator;



3.

C. Loads with large inrush current and negative power consumption;

Exposing batteries to fire, which may cause explosions.

Electrical Safety

1.

Please make sure that the grounding is firmly connected and the wiring and
battery polarity are correctly connected.

Battery protection devices must be configured with a suitable over-current
circuit breaker.

Before you remove your UPS or reconnect the wiring, please shut down your
UPS and disconnect the air circuit breaker and the battery to ensure that the
output terminals do not carry live voltage which may cause an electric shock.

To ensure safety and the best performance of your UPS, please choose from
accessories recommended by SANTAK.

A proper four-pole over-current circuit breaker shall be installed before
connecting clients to your UPS to prevent electric shock by disconnecting all
the input wiring.

Battery Safety

1.

The service life of a battery is shortened as the ambient temperature rises.
Regular battery replacement ensures that your UPS work well and provides
sufficient back-up time.

Battery replacement and maintenance must be performed by authorized
personnel with professional knowledge in battery. Please replace an
equivalent number of batteries of the same type and model.

There are risks of electric shock and short circuit with the battery. Please
observe the following rules while replacing the battery to reduce the risks of
electric shock:

A. Do not wear watches, rings or any other metallic objects;
B. Use insulated tools;
C. Wear rubber shoes and gloves;

D. Do not place metal tools or any other metallic accessories on the
battery;



E. Disconnect the loads connected to the battery before removing
terminals from the battery.

Do not expose the battery to fire to avoid the risks of explosion that may
result in personal injury.

Non- professionals shall not open or disassemble the battery as electrolytes
in the battery contain strong acid and other dangerous substances which may
cause damage to skin and eyes. Please clean with water immediately and
seek medical assistance if the electrolytes come in contact with human skin.

Do not connect the battery positive and negative poles as it may cause short
circuit. Over current protection device is needed to avoid risks of burns or
electric shock.

Maintenance

1.

The working environment and storage method of UPS can affect its service
life and reliability. Do not use your UPS in any of the following environments
where:

A. the temperature and humidity are outside the required ranges, i.e.O-
40° C and 0-95% humidity;

B. your UPS is at high risks of vibration and collision;

C. there are metal shavings, corrosive materials, salt and flammable
gases.

If you plan to leave your UPS idle for a long time, please store it in dry
conditions with an ambient temperature ranging between -25-55° C. Before
you start up your UPS, please keep it in an environment where the ambient
temperature is at or above 0° C for 2 hours or longer.

Keep the air inlets and outlets clear for proper ventilation. Poor ventilation will
cause the temperature inside your UPS to rise, shortening the service life of
the components and that of your UPS.

The battery should be charged at least once every three months if it is left
idle and stored in an environment with a room temperature, or at least once
every two months if left idle in a high temperature environment; each charge
should take more than10 hours; do not discharge with no loads connected or
discharge for more than 14 hours continuously.



Chapter 1 Introduction ..........coooeviiiii e 1
1.1 INtrOdUCHION ... 1
1.2 Frequently used symbols............ooueeiiiiiniiiice e, 2
Chapter 2 Appearance DesCription..............ii i 3
2.1 Unpacking and InSpection ..............cceeveiiieieiiiiiicee e, 3
2.2 UPS Cabinet DIMeNSIONS.........ccoooeviiiiiiiiieeeeeeeeeeeeeeeeeeeeee 4
2.3 LCD Panel Instructions...........coooviiiiiiiiiiiiieeeeeeee 12
Chapter 3 Installation INStruCtions .............eiii e 13
3.1 Installation NOtICe .........coooiiiiii e 13
3.2 Required Clearance for Installation ...............cccceeeeiiiiiieiinnnnn.... 13
3.3Terminals ....coooeeeiii 14
3.4 Wiring requirements and protective devices for 3C3 PRO series.. 19
3.5 Parallel Installation ..............i e 27
3.6 Steps of connecting battery cabinets to UPS ........................... 30
Chapter 4 Operation ... 31
4.1 Operations of Single UPS...........oiiii e, 31
4.2 Operations of UPS in Parallel Connection..........cc..c.cccooeun. 39
Chapter 5 Communications Interface.........cccccoooeiiiiiiic e, 40
Chapter 6 Optional ACCESSOMES ......coeveiiiiiiiee e e e e e eeaenaes 45
6.1 Dustproof Filter..........oooooiii e 45
6.2 Temperature SENSOr .......ccocvvuieiieieiee e 46
6.3 Dual Power Input..........ooiiii e 46
Chapter 7 Transportation, Maintenance and Troubleshooting ...................... 47
Appendix |  SpeCifiCations ............uuuuiiiiiiiiiiiiiii s 50
Appendix Il Reference Table of LED Indicators...........cccovvviieiiiiiiniieiinnnn. 54

AppendixX I Warranty ... e 55



Chapter 1 Introduction

1.1 Introduction

The 3C3 PRO series are high-efficiency pure online UPS products with excellent
performance that provide double conversion, and three-phase input and output.
With perfect power source protection solutions, the 3C3 PRO effectively address
multiple power source problems such as power outage, high-voltage AC and
low voltage AC, voltage sag, damped oscillation, high voltage impulse, voltage
surge, harmonic distortion, clutter interference and frequency variation, the
3C3 PRO series is widely applied for computers, communications devices and
other controlling devices safely. You can choose our optional accessories to
enhance your UPS in order to cope with inrush load situations in complicated
industrial environment. For the governments and a range of industries including
telecommunications, financing, transportation, manufacturing and energy, the 3C3
PRO series is the best choice of UPS.

The following functions of the 3C3 PRO series ensure high quality power for your
equipment:

« Advanced DSP digital control technology enabling improved product
performance and system reliability.

* N+X parallel redundancy (common batteries are allowed).
*  Excellent protection to harsh industrial environment.

+ Economic and safe ECO operation model that ensures 98% or higher USP
efficiency.

* High-resolution LCD that ensures clear and easy operation.
*  Powerful communications interface and remote monitor.

* Plenty of accessories that meet a variety of needs.



1.2 Frequently used symbols

The following symbols may appear in the manual or other occasions. You are
suggested to understand the symbols and their meanings.

Symbols and Indications

Symbol Description

Attention

Dangerous high voltage

>

Alternating current(AC)

= Direct current(DC)

Grounding Protection

Recycle

M 8 ©

Do not dispose with sundries




Chapter 2 Appearance Description

2.1 Unpacking and Inspection

1. Unpack the package, the unit should contain the following items:
1) 1 UPS

2) Accessories, including User Manual, RoHS Certificate of Compliance
and 2 door keys.

2. Check to see if the UPS is damaged during delivery. In case of any damage
or any component missing, please do not start the UPS and contact the
carrier or dealer forwarder or distributor immediately.

Note: Make sure that there is a sufficient minimum clearance from any obstacle
before moving the UPS.

Figure 1: Cut the packing straps and remove the top cover plate.

Figure 2: Unbend the tucks locking all plates together, then remove these plates.
Figure 3: Remove the plastic bag and foam around the unit.

Figure 4: Remove the shipping brackets fixing the UPS to the pallet.

Figure 5: Attach the ramp to the front of the pallet.

Figure 6: Roll the UPS down the ramp and move it to the installation spot.

Figure 4 Figure 5 Figure 6



2.2 UPS Cabinet Dimensions

3C3 PRO 20KS/30KS/40KS Cabinet Dimensions

r—soo.o [31.5]

-350.0 [13.8]—

FRONT VIEW

- 805[31.7]

HO
-350.0 [13.8]~

TOP VIEW

755 [29.7]

- 805[31.7]

RIGHT VIEW

° °
° °
° °
De ° oD
=) =)

AT

BOTTOM VIEW

?EE?;@DD

. ,
LJl
|®ﬂ®|@ﬂ@l@l

¢, L e®e00® , o
i Lk

REAR VIEW



3C3 PRO 60KS/80KS Cabinet Dimensions

- E|
| o
600 [23.62]
FRONT VIEW
&
S
Front
le——— 600 [23.62]—w

TOP VIEW

1-
20 [28.36)
RIGHT VIEW REAR VIEW

I i
il
|

ﬂl‘:H_\ I
[ O
Pl [ - I

BOTTOM VIEW



3C3 PRO 100KS Cabinet Dimensions

1876 [73,85]

— 600 [23.62]—j

FRONT VIEW

-~ 800 [31.50]— =

]

600 [23.62)—]

TOP VIEW

OO OO

.
$LF 7 A4 T L

— 800 [31.50——
RIGHT VIEW

=
=|

BOTTOM VIEW

REAR VIEW




3C3 PRO 120KS Cabinet Dimensions

1876 [73.85]

Lél . 0.0 [23.6‘2]—.;

OO OO

I T N4 T

FRONT VIEW

- 800 [51.50]

-y

Tl

l—600 [23.62]—

TOP VIEW

e 800 [31.50]

RIGHT VIEW
i i
I I
H . . ]
G

=k
=

BOTTOM VIEW

REAR VIEW




3C3 PRO 160KS/200KS Cabinet Dimensions

1876 [73.85]

— 600 [23.62}—

FRONT VIEW

-~ 830 [32.68)—— =

OO OO

s
T A =4 A4 A=Y

e 830 [32,68] ——— !

RIGHT VIEW

i

I~ 600 [23.62—

TOP VIEW

=
=i

BOTTOM VIEW

REAR VIEW




Center of Gravity of 3C3 PRO 20KS/30KS/40KS

I

B

[ 1L

o o ° o

-~ 800.0 [31.5]
- 448.0[17.6] 4»‘

‘k 448.0 [17.6] ——

—~——398.5 [15.7] —=

176.5 [6.9]
—— 350.0 [13.8]—~—

- 755[297] — .

805 [31.7]
FRONT VIEW
RIGHT VIEW
Center of Gravity of 3C3 PRO 60KS/80KS
] a
J».IJ:JO [11.;1]—i<; g ‘ésg [.14'25]._> oE
-~ 600 [23.62]——» 20 [28.36]
FRONT VIEW RIGHT VIEW



Center of Gravity of 3C3 PRO 100KS/120KS

1876 [73.85]

-
i

— -

500 [11.81)la

le——600 [23.62]—=

FRONT VIEW

10

00O OO

Eey
|~—401 [16,79}~
lw—————8

=L

00 [31.50—w

RIGHT VIEW



Center of Gravity of 3C3 PRO 160KS/200KS

D|
| |ooem
L
:‘ ] e
>,
N
s
E L
B
R
(o))
 —) ) I ) .LA 7&. 2 s
2300 [11.81} = |+401 [15.79] =

30 [32.68]—— =

600 [23.62]

FRONT VIEW RIGHT VIEW

11



2.3 LCD Panel Instructions

The LCD panel is a human-machine interface
providing information on the operating status of your
UPS, including power-on, power-off, status display, GASTLE
fault alarm, and parameter setting. After your UPS @ ) @ @ 7
is installed, all the operations can be performed [ese) =

with the LCD panel. The LCD panel consists of LED 4

A e
status indicators, a LCD display and navigation T Tb ;T
pushbuttons. Please refer to the table below for the
description of LED status indicators and navigation JQ £ é J@
pushbuttons.

Note: See Appendix Il for the description of each LED status indicator.

» LED status indicators: indicating the UPS working mode and status

Identifier LED Indicator Color Status
@ AC green UPS is powered directly by AC
® Inverter green UPS is powering through the inverter
©) Battery yellow  Line input fault, UPS is powering by batteries
@ Bypass green UPS is powering the load by AC through bypass
LED will solid on with continuous warning tone
® Fault red or flash with intermission warning tone in case of

UPS abnormal function

- LCD display ©: providing detailed information about the UPS

» Navigation pushbuttons: Selecting and opening menu items, accessing
information and changing system parameters, etc.

Identifier Key Name Function

Select a menu or confirm an operation; confirm the present input

Confirm/ )
@ H Ent password letter and enter the next password letter input process;
nter .

back to the main menu from the status screen.
v Page Down Switch to next screen display under the same menu.
© A Page UP Return to last screen display under the same menu.

Return to previous menu or cancel a certain operation; cancel the
Esc Escape

input password; back to the status screen from the main menu.

12



Chapter 3 Installation Instructions

3.1 Installation Notice

1) The installation of Castle EX series products must be performed in compliance
with the electrical code by professional personnel.

2) Install the UPS in a clean and stable environment that is free of vibration, dust,
high humidity, flammable gas, and flammable liquid or caustic substance.

3) To ensure normal UPS performance, ambient temperature should range
between 0-40°C. If temperature exceeds 40°C, maximum load should be
decreased progressively by 12% of the rated amount along with every increase
of temperature by 5°C. The maximum am- bient temperature for normal UPS
performance should not exceed 50°C.

4) It is suggested that battery pack should work within a temperature range
from15°C to 25°C.

5) Altitude for normal UPS function should not exceed 1000m. Should UPS be
intended for application above 1000m, contact your service representative for
important information about high altitude operation.

3.2 Required Clearance for Installation

The UPS cabinet uses forced air cooling to regulate internal component
temperature. Air inlets are in the front of the cabinet and outlets are in the back
of the cabinet. Allow clearance in front of and in back of the cabinet for proper air
circulation.

From Top of Cabinet =300 mm (12") working space*
From Front of Cabinet =900 mm (36") working space
From Back of Cabinet =600 mm (23.6") working space*
From Right Side of Cabinet =50 mm (23.6") working space*
From Left Side of Cabinet =50 mm (23.6") working space*

*

some components need top access for 60KS/80KS service operation, please
reserve at least 600mm space in the top of unit.

* If customer need smaller clearance requirement of rear side(<600mm), should
check with service if it is allowed to move away the UPS when do maintainence.

13



* 20KS/30KS/40KS UPS are maintained from the side, When installation space is
referred to Table, please reserve =800mm cable length so that the UPS could be
moved forward for maintenance, otherwise please reserve =600mm installation
space on left and right sides. Other models of UPS maintenance from the front,
installation space please refer to Table.

3.3 Terminals

The standard models of 3C3 PRO 20KS/30KS/40KS/60KS/80KS are single
feed,100KS/120KS/160KS/200KS UPS are dual feed. The UPS can be converted
from single feed to dual feed or from dual feed to single feed. All operations
should only be carried out by trained service personnel authorized by Santak.

3C3 PRO 20KS/30KS wiring connection:

1.Terminals:
UPS Output
UPS Bypass Input Neutral (N)
PhaseC(L3) — ———— Phase A (L1)
Phase B (L2) Phase B (L2)
Phase A (L1) — — Phase C (L3)
\\l///ﬂl o
\ [] [ 1 O | N 1 I | = | === «Lf
= = = = i = = p= = = ey e = ;’:’
==
J | \
— (o[ 0]
UPS AC Input m m m Iy
Phase A (L1)
Phase B (L2)
Phase C (L3) - - - -
Neutral (N)
i | ]
— Battery+
Battery-

Grounding Terminals

14



3C3 PRO 40KS wiring connection::

1. Terminals:
UPS Output
UPS Bypass Input Neutral (N)
PhaseC(L3) ————— Phase A (L1)
Phase B (L2) Phase B (L2)
Phase A(L1) — —— Phase C (L3)
\\/’/// -
[ IT 1T [I00 TTTI TIW [MTTHT T ETE—T] [ 1
| | J | RIRE
UPS AC Input T Il Il Il
Phase A (L1) Battery-
Phase B (L2) Battery-
Phase C (L3) = = = =
Neutral (N)
| -
L Battery+
Battery+

Grounding Terminals

15



3C3 PRO 60KS/80KS wiring connection:

2. Terminals:

Grounding Terminals

Battery+
—Battery-

Neutral (N)

3-!-!2-!-5!-!-5);.'-,@-; ,,,,, I

UPS Bypass Input

Phase A (L1)
Phase B (L2)
—  Phase C (L3)

Phase C (L3)

UPS Output

16

.
° oo
© o &) © CLIrA
T A3
Phase A(L1) | Phase A (L1) |
Phase B (L2) Phase B (L2) ——

Phase C (L3)
UPS AC Input



3C3 PRO 100KS/120KS wiring connection:

3. Terminals:
Neutral (N)
Phase C (L3)
UPS Bypass Input  ppase B (L2)
Phase A (L1) ™
T
// °
j o o o o g q o o o ¢
| {0} {0} 0} {0 c»iu:oio o) {0} (¢} |
°lo] o) (o] (o qaﬂﬁﬁa @ﬂﬁo o] o] |9J°
EINE
Grounding Grounding
Terminals Terminals
] [} o
® \ / XY
o oo ‘ olo o
Phase A (L1) Battery+ | L— Neutral (N)
Phase B (L2) Battery- Phase C (L3)
UPS Output prase C (13) Phase B (L2) UPSAC Input
Neutral (N) Phase A (L1)

17



3C3 PRO 160KS/200KS wiring connection:

4. Terminals:

UPS Output
Battery- Neutral (N)
Battery+— Phase A (L1)
Phase B (L2)
— Phase C (L3)
I N o
—T = = g p— ey pe——
H5o8 (<] _o—_DD]o[B_ _DQJO[B_ _Dg]o[g
[ 1 [ 1 [ [ 1 [ 1 [ 1
J
° o

-

_ b & d L) k) ) I
Grounding - Grounding
Terminals Nrminals
o

NP %
o U - o
Neutral (N)—
Phase A (L1)——— Phase C (L3)
UPS AC Input Phase B (L2) ——— Phase B (L2) UPS Bypass Input
Phase C (L3) Phase A (L1)

Notes:

1. Please make sure that the input power is three-phase with 4 wires, and the
input voltage is within the allowable voltage range(refer to Appendix 1).

2. Make sure the input power phase sequence is close-wise and battery
polarities are correctly connected.

18



3.4 Wiring requirements and protective devices for 3C3 PRO series

External batteries of 3C3 PRO series UPS should be groups of battery packs with
the same capacity, 20-80kVA, 28-36 block, default 32 block, the battery voltage
should be within 336V-432V; 100-200kVA, 36-40 block, default 40 block, the
battery voltage should be within 432V-480V.The number and total capacity of
the battery packs are at your option. The battery packs must be equipped with
a DC switch and DC fuse, and overload and line voltage should also be taken
into consideration for wire diameter selection. Please refer to the table below for
details:

Cross- Unit
sections
Rated Capacity Irlg(f:er tothe |y 20 30 40 60 80
62040-1 kW 18 27 36 54 72
Input /Output Voltage Volts 400/400 400/400 400/400 400/400 400/400
AC Input Full Load
Current (three_-phase, Amps 31 46 61 92 122
one neutral wire,
one ground wire)
Wire Size min mm’ 61 61 16X1  16X1  25X%1
(A\B\C\N wire size) max mm’ 10X1  25%X1  25X1  50X1  70X1
Bypass Input Full Load
Current (three-phase,
one neutral wire, Amps 29 43 58 87 116
one ground wire)
Wire Size min mm? 61 6x1  16X1  16X1  25X1
(BTN Slrs) max mm’ 10x1  25X1  25X1  50X1  70X1
DC Input Current
(32 block of batteries) Total
(one positive wire, Amps 46 69 92 151 202
one negative wire)
Power Wiring Size min mm?® 6X1 10X1 16 X1 35 X1 50X1
(positive and negative)  max mm? 25%1  35%1  50X1 50X2  70X2
AC Output Current
(three-phase,
one neutral wire, Amps 29 43 58 87 116
one ground wire)
Input Wiring Size min mm? 61 6X1 16X1  16X1  25X%1
(A\B\C\N wire size) max mm? 10X1  25X1  25X1  50X1  70X1
Grounding 1.0 times
neutral wire (N wire) 1.7 times

19



Cross- Unit
sections
Rated Capacity ;re]LeIrEté) KVA 100 120 160 200
62040-1 kw 90 108 144 180
Input /Output Voltage Volts 400/400 400/400 400/400 400/400
AC Input Full Load
Current (threg-phase, Amps 154 187 248 309
one neutral wire,
one ground wire)
Wire Size min mm? 35X 1 50X 1 70X 1 95X 1
(A\B\C\N wire size) max mm? 95x1  120%1  150X1  240X%1
Bypass Input Full Load
Current (three-phase,
one neutral wire Amps 144 173 231 298
one ground wire)
Wire Size min mm’ 35X 1 50 1 701 95X 1
(A\B\C\N wire size) max mm’ 95x1  120X1  150X1 2401
DC Input Current
(32 block of batteries) Total
(one positive wire, Amps 206 247 330 412
one negative wire)
Power Wiring Size min mm? 50 X1 70 X1 185X1  300X1
(positive and negative)  max mm? 1201 150X1  400X2  400X2
AC Output Current
(three-phase,
one neutral wire Amps 144 173 231 289
one ground wire)
Input Wiring Size min mm’® 35X 1 50X 1 70X 1 95X 1
(A\B\C\N wire size) max mm? 95x1  120X1  150X1  240X1
Grounding 1.0 times
neutral wire (N wire) 1.7 times

NOTE:

1. Before connecting to the UPS, a proper three pole over-current circuit
breaker should be installed in the power distribution system, with Phase A,

Phase B, Phase C disconnected , and Neutral switch is optional.

equipped with a UL-listed D-curve air circuit breakers.

20

For single-phase current exceeding 100A, the air circuit breakers used must
feature an arc-quenching mechanism. It is suggested that the clients be

Positive/negative battery wire diameter refers to the diameter of the wires



used to connect the UPS and the battery cabinet; the positive wire is red
and negative wire black.

4. The positive and negative battery wires, which must be of the same length
and should not be longer than 40m.

3C3 PRO 20KS\30KS\40KS UPS External Power Source Terminals

. Tightening .
Terminals . . . Screw Size
Eunction Terminals  Function Bus landing Torque and Tvpe
uncti Nm (Ib in) yp
_ L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?(M®6).
AC Mains
L2 Phase B M6 bolt mounting 5 (44) 28.26 mm?(M6)
Input to
UPS L3 Phase C M6 bolt mounting 5 (44) 28.26 mm2(M6)
Rectifier
N Neutral M6 bolt mounting 5 (44) 28.26 mm?(M6)
L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?(M6)
'I’\C Mains L2 Phase B M6 bolt mounting 5 (44) 28.26 mm2(M6)
nput to
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?(M6)
Bypass
N Neutral M6 bolt mounting 5 (44) 28.26 mm?3(M6)
L1 Phase A M6 bolt mounting 5 (44) 28.26 mm3(M6)
UPS L2 Phase B M6 bolt mounting 5 (44) 28.26 mm?(M6)
Output to
L3 Phase C M6 bolt mounting 5 (44 28.26 mm?*(M6
Loads
N Neutral M6 bolt mounting 5 (44) 28.26 mm?*(M6)
+ Battery (+) M6 bolt mounting 5 (44) 28.26 mm?(M6)
DC Input
- Battery (-) M6 bolt mounting 5 (44) 28.26 mm?3(M6)
Groundin Ground M6 bolt mounting 5 (44) 28.26 mm?(M6)
g

21



3C3 PRO 60KS\80KS UPS External Power Source Terminals

. Tightening .
Terminals . . . Screw Size
Functi Terminals  Function Bus landing Torque dT
unction Nm (|b in) an ype
_ L1 Phase A M8 bolt mounting 15 (133) 50.24 mm?*(M8)
AC Mains
Input to L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?*(M8)
UPS L3 Phase C M8 bolt mounting 15 (133) 50.24 mm2(M8)
Rectifier
N Neutral M10 bolt mounting 24 (213) 78.5 mm?*(M8)
L1 Phase A M8 bolt mounting 15 (133) 50.24 mm*(M8)
AC Mains L2 Phase B M8 bolt mounting 15 (133) 50.24 mm>3(M8)
Input to
Bypass L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?*(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm3(M8)
L1 Phase A M8 bolt mounting 15 (133) 50.24 mm*(M8)
UPS L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?(M8)
Output to
Loads L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?*(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm*(M8)
+ Battery (+)  M10 bolt mounting 24 (213) 78.5 mm?*(M8)
DC Input
- Battery (-)  M10 bolt mounting 24 (213) 78.5 mm?3*(M8)
Grounding Ground M8 bolt mounting 15 (133) 50.24 mm?3(M8)

22



3C3 PRO 160KS\200KS UPS External Power Source Terminals

. Tightening .
Terminals . . . Screw Size
Functi Terminals  Function Bus landing Torque dT
unction Nm (|b in) an ype
_ L1 Phase A M10 bolt mounting 24 (212) 78.540 mm#(M10)
AC Mains
Input to L2 Phase B M10 bolt mounting 24 (212) 78.540 mm*(M10)
UPS L3 Phase C M10 bolt mounting 24 (212)  78.540 mm3(M10)
Rectifier
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
L1 Phase A M10 bolt mounting 24 (212) 78.540 mm*(M10)
AC Mains L2 Phase B M10 bolt mounting 24 (212)  78.540 mm?(M10)
Input to
Bypass L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm?(M10)
L1 Phase A M10 bolt mounting 24 (212) 78.540 mm*(M10)
UPS L2 Phase B M10 bolt mounting 24 (212)  78.540 mm*(M10)
Output to
Loads L3 Phase C M10 bolt mounting 24 (212) 78.540 mm?*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
+ Battery (+) M10 bolt mounting 24 (212) 78.540 mm?*(M10)
DC Input
- Battery (-) M10 bolt mounting 24 (212) 78.540 mm?*(M10)
Grounding Ground M10 bolt mounting 24 (212) 78.540 mm2(M10)

23



Recommended Input Circuit Breaker and Output Circuit Breaker Ratings

Circuit Breaker Rating

UPS Models
Load 400Vac
80% -rated 38A
3C3 PRO-20
100% -rated 31A
80% -rated 57A
3C3 PRO-30
100% -rated 46A
80% -rated T7A
3C3 PRO-40
100% -rated 61A
80% -rated 115A
3C3 PRO-60
100% -rated 92A
80% -rated 153A
3C3 PRO-80
100% -rated 123A
80% -rated 192A
3C3 PRO-100
100% -rated 154A
80% -rated 234A
3C3 PRO-120
100% -rated 187A
80% -rated 310A
3C3 PRO-160
100% -rated 248A
80% -rated 386A
3C3 PRO-200
100% -rated 309A

24



Recommended Bypass Circuit Breaker and Bypass Fuse Ratings

Circuit Breaker Fuse Parameters
Rated Voltage/min 400Vac Rated Voltage/min 400Vac
UPS B 5 Rated Current Tripp‘ . Current/Min 12T/Max
characteristic

3C3 PRO-20 40A CorD 40A 10200A°Sec
3C3 PRO-30 63A CorD 63A 10200A*Sec
3C3 PRO-40 80A CorD 80A 20400A*Sec
3C3 PRO-60 125A CorD 125A 72500A%*Sec
3C3 PRO-80 160A CorD 160A 72500A%*Sec
3C3 PRO-100 200A CorD 200A 202500A%Sec
3C3 PRO-120 250A CorD 250A 202500A°Sec
3C3 PRO-160 300A CorD 300A 225000A°Sec
3C3 PRO-200 400A CorD 400A 225000A%Sec

25



Recommended DC Circuit Breaker Ratings

Rated Voltage 500Vdc 600Vdc
Current Current
UPS Model Load
(32 block) (40 block)

80% -rated 63A NA
3C3 PRO-20

100% -rated 50A NA

80% -rated 95A NA
3C3 PRO-30

100% -rated 76A NA

80% -rated 126A NA
3C3 PRO-40

100% -rated 101A NA

80% -rated 189A NA
3C3 PRO-60

100% -rated 151A NA

80% -rated 252A NA
3C3 PRO-80

100% -rated 202A NA

80% -rated NA 257A
3C3 PRO-100

100% -rated NA 206A

80% -rated NA 309A
3C3 PRO-120

100% -rated NA 247A

80% -rated NA 412A
3C3 PRO-160

100% -rated NA 330A

80% -rated NA 515A
3C3 PRO-200

100% -rated NA 412A

26



3.5 Parallel Installation

The 3C3 PRO Series support parallel installation. The parallel connection wires
(optional) can be used to connect 2 to 4 UPS units in parallel to achieve power
redundancy (N+X). The minimum clearance between two UPS units is 10cm. The
input wiring requirements for paralleled UPS units are the same with those for
single unit. The input/output of paralleled UPS units should all be connected to
the same input/output patch board, from which wires are distributed for load as
illustrated in the following figure:

AC Mains Input Patch Board

UPS1 UPS2 UPS3 UPS4
=5 [ B [ 8 [ =
0 — 0 — 0 — 0 ]
DL VoL

Output Patch Board

Load Load Load Load

NOTE:

1. Paralleled UPS units can share the battery packs for 20-80kVA; The batteries
of each battery pack should be batteries of the same type and from the same
batch produced by the same manufacturer;

2. Requirements for output wire length:

(D When the wires connecting the input (output) terminals of paralleled UPS
units with the input (output) patch board are shorter than 20m, the difference
in wire length should be smaller than 20% of the length

2 When the wires connecting the input (output) terminals of paralleled UPS
units to the input (output) patch board are longer than 20m, the difference
should be smaller than 10%.

27



Parallel machine wire connection drawing:

3C3 PRO 20KS/30KS/40KS UPS

INPUT (MAIN) BAT

NFB

[N e[z ] wis]spLi]Bp L2 B3 BATH] BAT- JopLi[ori2[or i3] N ] [ 6 [ G [ G ] [N iz ]3] spLi]Bp L2 BPL3] BAT+ [ BAT- JoPLI[OPL2[OP I3[ N

[6]6 6]

UPS 1 [ w UPS 2

X
U] E\; [@F

OUTPUT (MAIN)

3C3 PRO 60KS/80KS UPS

INPUT (MAIN)

[ 6 [ 6] G | [BA+]BAT [ N JopLiJoPJi2[OPJ3]BPLI] BPi2]BP I3[ IPLI[IPI2] P13 ] [6]¢

G | [BAT-]BAT [ N JoPLIJOPJ2

OP_L3 [ BP_LL BP2

BP I3[ IPLL]IPI2 [ P13 ]

L1 12 L3 N G

OUTPUT (MAIN)

28



3C3 PRO 100KS/120KS UPS

INPUT QLYY

-

anfvn

I
-
[or Jopiz [rpis [ v Jeeir [spi2 [wis [PL[Pi2[PL] N ] C ]¢ [opr Topte [rpas [ N Jee i [eeie B3 [IPLI[IPi2[PIS] N ] [T s
AT+ BAT- A
[ 0ps 1 Cm
|
r-r-—kn
A
- I I -
oo oldh o
OUT PUT CHATY) Tl B2
3C3 PRO 160KS/200KS UPS
BATL T PLT QUIN) BT
\Fj\ ¢ I i G 11
T T ! | |
[ [ [ [
L -—J—2 [EY AU
\
[ w [ w
[ Jev- [ v Torat Joetz Joris | ¢ J6 ] (B e [ v Joput Jortz Joris | [6 [T Ts6]
[ [meir]mia Jteis TeeLi [Bio [BeL3 | [y [mri]mia [Tis TeeL [eeiz [oeis |
UPS 1 [PS 2

INPLT

ULV

TP 0o o

29



3.6 Steps of connecting battery cabinets to UPS

A proper over-current circuit breaker should be installed between the battery
cabinet and the UPS. To choose the right circuit breakers, please refer to the
tables in the above section.

Make sure that the input and output terminals is non-electrified and the external
battery sockets are power off.
1. Switch off the battery breaker of battery cabinet.

2. Remove the cover on the terminals bay and connect the "+" and "-" wires
from the UPS terminals to "+" and "-" wires of the battery box; make sure the
battery polarities are correct.

Use multi-meter (DC Voltage) to measure the voltage of positive and negative
batteries as well as positive and negative polarity, make sure the positive and
negative connectivity is correct then put the cover back on the terminals bay.

NOTE: To prevent electric shock, the installation and replacement of battery
must be performed by professional personnel and after the UPS is shut down.

30



Chapter 4 Operation

4.1 Operations of Single UPS

1. Make sure Phase A, B and C are in correct phase sequence, and then supply
power to the UPS.

2. Turn on the battery (make sure that the battery "+" and "-" terminals are
correctly connected to the UPS terminals).

3. Turn on the "Input Switch" on the UPS (the AC Input Switch), and the UPS
will start to check its functionality with the cooling fan operating. You will
access the main menu in about 4 seconds. Then please operate according to
the following screen display.

NOTE: The data shown in the following pictures on the operations of 3C3 PRO
80KS are for reference only.

1) Turn on the "Input Switch", and the
UPS will start to check its functionality,
The main menu will be displayed after
15 seconds of inactivity.

2) Get to the main menu.

SANTAK LOAD: 0% BAT: 0

3C3 Pro 80 KVA UPS

UPS SELFTESTING
PLEASE WAIT A MOMENT

CASTILEI

I/P VOLT: 226 225 226
O/PVOLT:0 0 O
O/P FREQ: 0.0 Hz
STATUS: Load Off

CASTLEL

JPRE

ESC

oJe]e]e

31



3) Press the ¥ button for the following 4) Press the ¥ button for the following

information. information.
OUTPUT PARAMETER INPUT PARAMETER
RN SN TN RN SN TN
Vout: OV OV 0OV \Vin: 224V 222V 224V
lout: 0OA OA O0OA lin: 0 A 0O0A OA
FREQ: 0.0 Hz FREQ: 50.0 Hz
CASTILE_] CASTILE
ESC A V4 <J ESC A N/ J

5) Press the ¥ button for the following 6) Press the ¥ button for the following

information. information.
BYPASS PARAMETER POWER PARAMETER
RN SN TN RN SN TN
Vin: 222V 224V 225V kWw: 0.0 0.0 0.0
lin: OA OA OA kVA: 0.0 0.0 0.0
FREQ: 50.0 Hz
GCASTILIE_ GASTILIE_
EBSC | | A | | Y | | <J ESC| | A || Y || <

32



7) Press the ¥ button for the following

8) Press the ¥ button for the following

information. information.
PF PARAMETER BATTERY PARAMETER
Input PF: *xx VBAT: oV
Output PF: *xx IBAT: +0.0A
Bypass PF: xxx CAPACITY: 0 %
BTR: 0 min
CASTILIEL CASTILIE_

ESC

AR

O

ESC

e

9) Press the ¥ button for the following

10) Press the ¥ button for the following

information. information.
STATUS DETECTION MODEL AND SERIA
CTO:
Power Supply: Normal 3CX08CC50412010
BA'I—I- Status: Normal MODEL 3C3 PI’O 80 KVA
SN: 41L.263LAA01
CASTILE CASTILE

ESC

e

O

ESC

sje]e

33




11) Press the '¥ button for the following  12) Press the ¥ button for the following

information. information.
CSB APP: 3.00.0000 STS
CSB BLDI 1100_0001 _D .......................
UPM APP: 3.00.0000 REC INV P
UPM BLD: 1.10.0002 —- - ’
UPM PLD: 2.06.0000 BAT é +
CAaSTILIE_ GCaSTILIE_]
ESC

34



4. Start-up and shut-down operations

1) Access the control interface. 2) Press the ENTER button.
2 CONTROLS 2 UPS CONTROLS
CONFIGURATION UPM CONTROLS
HELP BATTERY CONTROLS
CASTILE CASTLE_
EBSC| | A ||V || I ESC) | A |V ||

3) Select "Start-up". 4) Enter the password to access the
home page.
=  To Normal
To Bypass
ECO Enable > ENTERKEY: ****
CASTLE- CASTLEL
ESC | | A ||V | & ESC ] | A ||V ]| I

35



5) Select "Shut-down". 6) Confirm that you want to shut down

the UPS.
To Bypass CONFIRM
> 4 Load Off Load Off
ECO Enable NO, CANCEL

= YES, CONFIRM

CASTLE CASTLE

008 || 9ORE

O

ESC

ESC

The 3C3 PRO series can start and operate with battery in the absence of AC

mains supply, with a panel display similar to that in the case of AC supply. You can

just follow the instructions displayed on the panel to start or shut down the UPS

with battery:

 Make sure that the battery "+" and "-" terminals and the N wire are correctly
connected to the UPS.

*  Turn on the battery.

Press the ENTER button.

 The LCD will undergo a self-test. Please manually start the UPS within 40s
after the LCD self-test is completed.

NOTE: The power supply to the UPS will be automatically cut off if there is no
operation within 40s after the LCD self-test is completed!

36



5. Enter the start-up password to access the Settings page to configure the
following settings:

1) Press the ¥ button and select

2) User/Service password setting page

"Settings". Access the User Setting page; Enter
the service password To access the
Service Personnel setting page .
CONTROLS USER KEY: ****
> CONFIGURATION =  SERVICE KEY: ****
HELP
CASTILE_ CASTLE_

ESC

AR

ESC

R

3) User Setting page.

4) Retailer Telephone Number setting
page.

Auto Start
Control PW
User PW
Retailer Phone
Clock

CASTLEI

O

ESC

sjs]e

SETUP RETAILER PHONE
= PHONE:
0000000000000

CASTLEJ

RS

O

ESC

37



6. Inquiry

1) You can access the Inquiry page by
entering the start-up password.

2) Inquiry page.

CONTROLS
CONFIGURATION
= HELP

CASTLEI

AR

ESC

HOTLINE
MAINTAIN
ALARMS
HISTORY LOG

CASTLE

ESC

sfee

3) Hot-line and dealer Telephone

Number inquiry page (for China market only).

SERVICE HOTLINE
8008303938
4008303938

SERVICE CONTACT

0000000000000

CASTLE

AR

O

ESC

38




4.2 Operations of UPS in Parallel Connection

1) Enter the user password or service
password.

USER KEY: ****
= SERVICE KEY: ****

CASTLEL

ole]e

ESC

3) UPS Parallel Connection Parameter

2) Access the UPS Parallel Connection
Setting page.

Setting page.

Bypass = NUM of UPS: 1
Battery UPS ID: 0
S/N
= Parallel
Signal Input
CASTLE_ CASTLEL
OO OO OO OO
ESC N M < ESC AN M =

39




Chapter 5 Communications Interface

The 3C3 PRO series provide Expansion Slot, Parallel (RJ45) and REPO as well
as special communication tools used by SANTAK service engineer or technical
personnel authorized by SANTAK.

3C3 PRO 20KS/30KS/40KS

L 2 Mini-Slot Communications Bay 2

1 Mini-Slot Communications Bay 1

Parallel CAN Output (RJ45)
Parallel CAN Input (RJ45)
Pull chain Terminals

REPO Terminal

Building Alarm Ports

~N SN Ul AW

3C3 PRO 60KS/80KS

Mini-Slot

| oﬂ I —_—— il o ﬁ . Communications Bay 1
|

Mini-Slot
Communications Bay 2

Parallel CAN Output (RJ45)

Parallel CAN Input (RJ45)

Pull chain Terminals

REPO Terminal

—~N oSN o B W

Building Alarm Ports

40



3C3 PRO 100KS/120KS

| |
Building Alarm Ports 7 ———————— ji

| | { Mini-Slot
1 Communications Bay 1
REPO Terminal 6 —————+| @

Pull chain Terminals 5 }
| =
\

[e]
Parallel CAN Input (RJ45) 4 ]
Parallel CAN Output (RJ45) 3 ‘ F]

9 Mini-Slot
Communications Bay 2

3C3 PRO 160KS/200KS

rrg """ il
! 1 Mini-Slot
Communications Bay 1

Building Alarm Ports 7

REPO Terminal 6

Pull chain Terminals 5
Parallel CAN Input (RJ45) 4
Parallel CAN Output (RJ45) 3

2 Mini-Slot

1 5 1
|_ o J Communications Bay 2

1 (2) Expansion slots: Slots exclusively available on the 20KS-200KS
models and only accessible by users with special requirements. Standard
users have no access to the slots.

« 3. Parallel Connection Terminals (RJ45) Parallel CAN Output used for
communications between paralleled UPS units. Up to four 20KS-200KS
models can be connected in parallel.

* 4. Parallel Connection Terminals (RJ45) Parallel CAN Input.

* 5. Pull chain Terminals: Check to make sure the UPS system is shut down,
and connect the UPS intended for parallel connection according to the
parallel connection diagram.

+ 6. The REPO is used for emergency shutdown, which enables users to cut

41



off the UPS output in case of an emergency.

7. Building Alarm Ports This standard feature enables you to connect UPS
ports to your building alarms, such as” On generator” . Please use twisted-
pair wires to connect the alarms and the corresponding UPS ports. You

can choose which building alarm you want to connect to a certain UPS port
through LCD.

If you have any questions on the use of the above communications terminals,
please call SANTAK's local distributors or email to santak_int@eaton.com.

Pull Chain Terminals:

i 2
O O

! 1. Pull Chain+
Pull Chai 2. Pull Chain-

REPO external wiring:

Emergency Shutdown Emergency Shutdown

lolg o o0 oo [olo 1S

Il 2 3 4 1| 2| 3| 4
—ttT——— L i R B -
| J }_ User Switch | A |—— User Switch
l I Keep 1-2 e d by _hl
______ eep 1-2 connected by a short wire.
close 1-2 to enable UPS emergency disconnect 3-4 to enable UPS emergency
shutdown. Keep 3-4 idle. shutdown.

42



Pullchain external wiring:

NOTE:

Parallel system combined input and output cable length should be in
accordance with the following rule. It should be designed to ensure that
wiring impedance from point of supply to UPS input and from UPS output to
load connection for each UPS module in a multi-module system is equal, or
within a tolerance of approximately =10%. This is to ensure approximately
equal current sharing when in static bypass mode and restrain input/output
high frequency loop current of parallel system. Suggest that parallel system
combined input and output cable length no less than 10m, 5m for input and
5m for output.

Total length of 1A=2A=3A=4A

1B=2B=3B=4B

1C=2C=3C=4C
If installing only two UPS modules (redundant), this requirement is no longer
required as each UPS is capable of supporting the full bypass requirement.
However, this would preclude future expansion.

Ensure that each UPS static bypass is fed from a single common source, as
is an external bypass switch if installed. If each UPS is fed with a separate
rectifier source, please consult Santak for advice on compatibility.

UPS paralleling wiring diagram — without parallel tie cabinet

TERMINATING
JUMPER

RJ-45 CABLE

RJ-45 CABLE

RJ-45 CABLE

TERMINATING
JUMPER

[N ] [out | [N [ Joutr ] [N ] Toutr | [N ] Tout |
cN3 L———cne 3 CN6 3 CN6 3 ——IcNe
CAN BUS CAN BUS CAN BUS CAN BUS
UPS 1 UPS 2 UPS 3 UPS 4
PULLCHAIN PULLCHAIN PULLCHAIN PULLCHAIN
CN4 CN4 CN4 CN4

2 2 2 2
1. ) )¢ I

43




UPS paralleling wiring diagram — with parallel tie cabinet

TERMINATING TERMINATING
JUIEF RJ-45 CABLE RJ-45 CABLE RJ-45 CABLE JIUEFR
[N [ out IN [out IN [ out IN [ out
3L———cne N3 L—— ¢ 3 L———IcNe 3 L——Icne

CAN BUS CAN BUS CAN BUS CAN BUS

UPS 1 UPS 2 UPS 3 UPS 4
BUILDING PULLCHAIN BUILDING  PULLCHAIN BUILDING  PULLCHAIN BUILDING PULLCHAIN

ALARM CN9 ALARM CN9 CN4 ALARM CN9 CN4 ALARM CN9
12 12 12|
TWISTED
PAIRS
CUSTOMER
TERMINAL
CONNECTIONS
4 25 9] 8 100 26 16 27 21| 20 22| 28
6 7 12 18 19 24
NO‘ NO| | NC NO| |NC NO| | NC NO| | NC NO‘ Ne| (M| ~o| | e
(o)
coMm, coM coM COM B |com
5 11 17 a| =
TIE CABINET

44




Chapter 6 Optional Accessories

6.1 Dustproof Filter

Dustproof filter is an standard accessory specially designed for the 3C3 PRO
series to provide further protection for the front side of the UPS in environments
where there is heavy dust (dust diameter no less than 1.0mm, especially metallic
and metalloid dust). It is easy to install, replace and clean.

3C3 PRO 20-40KS Dustproof Filter

- Dustproof
Filter

L Dustproof Filter




6.2 Temperature Sensor

For battery with short lifetime and being sensitive to temperature, the temperature
sensor can be used to detect the temperature change, enable the temperature
compensation function of charge voltage, the battery charge voltage will be
adjusted automatically to prolong the lifetime of the battery.

6.3 Single Power Input

The 3C3 PRO Series 20-80kVA models can be used to change the standard dual
power input to a single power input via the supplied power jumper according to
customer requirements.

46



Chapter 7 Transportation, Maintenance and
Troubleshooting

Transporting the UPS

Prepare for transporting the UPS according to the following steps:

Note: Special equipment, such as a forklift, is needed for loading and unloading
due to the heavy weight of the UPS.

1.

2.

Turn off all equipment that is being powered by the UPS, and disconnect all
connectors to the power terminal of the UPS.

Disconnect the UPS from utility power and turn off the battery.

Servicing and Maintenance

The 3C3 PRO series require only minimal maintenance.

1.
2.

If the battery is disconnected, loads will not be protected from power failure.

Under normal circumstances, early replacement should be made if the
battery is found not in good condition. The battery should only be replaced
by qualified personnel. Users should not replace the battery themselves. The
following precautions should be observed:

A. Turn off and disconnect the UPS from the AC mains prior to battery
replacement.

B. Remove watches, rings, or other metal objects.

C. Use screwdrivers with insulated handles, and do not lay tools or metal
objects on the battery. Otherwise the battery can present a risk of electrical
shock or explosion from high short-circuits current.

D. Short circuit or reverse connection between the positive and negative
terminals of the battery is strictly forbidden.

It is not recommended to replace batteries individually. All batteries should
be replaced at the same time only by authorized personnel following the
instructions from the battery supplier.

Keep the air inlets and outlets clear for proper ventilation and clean side
frames and fan vents from dust every 6 months (disconnect the UPS from
utility power and turn off the battery prior to the cleaning).

47



Troubleshooting

Go through the following checklist if the UPS is operating abnormally:

1.  1Check if the input wiring of the UPS is connected correctly.

2. Check if any over-current circuit breaker has tripped.

3. Check if input voltage is within the specified limits.

If the problem remains unsolved after you go through the checklist above, please
refer to "Table of Malfunctions" and "Reference Table of LED Indicators" in

Appendix Il for further instructions.

Table of Malfunctions
Symptom

LCD Display or Possible cause

Solution

Overloaded in bypass or
inverter mode

Remove some load. Loading
level shall be less than the
nominal power capacity.

The fault LED is lit,
periodic beeps Mains out of tolerance

Check that the input wiring
and input voltage are normal

Battery disconnected

Check the battery breaker
and the battery wiring

The fault LED is lit,

: UPS fault
continuous beeps
Battery discharging Battery exhausted
time less than 1/3 of
initial discharging time Charger fault

Contact SANTAK customer
service center

LCD panel has no
display

Long press ESC 3S,LCD
replacement.

If the problem persists, please contact SANTAK local distributors or email to
santak int@eaton.com, and provide the following information:

. MODEL and SERIAL NO of the UPS;

48



SANTAK

TYPE: 3C3 PRO-20KS Uninterruptible Power Supply

INPUT. AC380/400/415V 3W+N+PE, 50/60Hz, 32/31/129A, lcc10kA

BYPASS: AC380/400/415V, 3W=N-+PE, 50/60Hz, 30/29/28A, Icc: 10k

OUTPUT: AC380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, 20kVA13kW

BATTERY: DC384V 41A Icc.10kA (Please refer 1o user manual jor details )
9106-52241

PO D)

9106-52251-XX c Lo
-——

PN: O

3CNO02CC50412024
o RN s e
Atdiess: No, B Baoshi Road, Baoan District, Shenzhen
ALXKKLAAXK

s MO

The date when the problem arose.
A complete description of the problem (including indications from the LCD panel,
LED indicators, horns, and power condition and load capacity).

49



%686 SPON OO

Aouapiy3
%16 9POJ\| UOISISAU0D-8|qno(]
, 0,01 1o 9393&9 JUsIgue ue 1e peo| o\&mhrA JoJ sWw QG| pue sUll] pEOIBAG
peo| %0gG1-9¢| 40} ulw | "peo| %GZL-1L] J0j Ul Q| "PEO| %0LL-Z0} 4O} Uil 09
ZHY FzH(Z2-2%) aouels|o] Aousanbaiy inding
60 Jojoe Jamod
(SL¥/0¥Z ‘08€/02Z leuondQ) ‘@Iz PUNOIS) + BJIAN [BAINBN + 8SBUd 881y ‘OBA 00/0E2 abeyjo/ pejey

(9%0zZ F :obuey Jeuondo wnwixep
‘%01 F :abuey sbejjop pajey jnejeq) 0BA8EY/EGZ 0} 6GE/L02 abuey abeyjo) ssedAg
(SL¥/0%¥Z ‘08€/02Z ‘leuondO) 9BA00Y/0€Z :Buney

(%0Z+ ‘%0G-) 908A8.1/9/Z O} LOZ/9LL :PBOT %05
(%0Z+ ‘%G 1-) 08A8/1/9/Z 0} 0EE/061 PO %001 abuey abeyjo/ sule|\ OV induj
(SL¥/0¥Z ‘08€/02Z :leuondQ) 9BA00Y/0€T :Buney

6602 Jojoe Jamod
ZHCL - ¢V Aouanbal4
BJI\\ PUNOID) + BIIAN [BNINBN + BSBYd 921yl adA] ndy|
MMCLINAM08 MMTYS/NVAMO9 MMT9ENAMOY MMLZINAAOE MM8LINAMOZ fypede) pajey
SYM08 OHd €0€  SM09 Odd €0¢ SM0Y Odd €0¢ SM0E Odd €0€  SM0Z O¥d €0¢ SI9PO

suonedy1ads SH08/SH09/SHOF/SHOE/SHOT OY¥d €D€

suonesyioadg | xipuaddy

50



*S92URQINISIP JUSAId 0} papasau 3 A_W SINSEIW [RUOIIIPPE IO SUOIIDIIISI UOIIR|[RISU| “JUSWUOIIAUD
K1epuod3s 2y} ui uonedijdde jelIsnpul pue [eIPJAWWOD 10} PapUd3UI 1 1dnpodd Siyl :ONINYVM

BIIE
2°0%70Z9/031 spJepuels bmtmw jeuoljeulajuj
2'09¢./9d9 BUIYD JO spiepuelg Alejes |euoneN
G601 1/AA uoneayie) O1L spiepuelg
£Y6vaO BUIYD JO spiepue)s Alejes [euoneN Ky3yes
0021 X0Z.X009 00ZLX02.X009 008XS08X0SE 008 XS08X0GE 008 X508 X 0GE (ww) (Hx @ X M) suoisuswig
Byogcz Byezz BMLOL B)G. BMg /8 (A1epeq ynoypm) yblopp ssoin -
ybr/m
BMy8lL BML2L BMe6 BM/9 BMS°19 (Aseneq noym) bISAA 19N
abeyjop buibiey) paiey
b ¢ |
(s118D Z61) AP8E :Bumes Jneyap ‘(|18 912) AZEY O3 (SI18D 891L) N9EE /abe0p, Alanieg [eUILION
abexoed jeuibuo Yy BY0 (NS

Jun J9j34) Jeak
HY %0. > Aipilwny abelo)g 3uo 2103s sued
2, OV > ainiesadwa] abeliolg dJeds pue sdn
- 10j uonIpuod

e 1snd abeioys

Joopu| 9%€|d
MMZLINAN08 MMPS/VAM09 MMIE/NVANOY MMLZINAMOE MM8L/VAM0Z fpede) parey
SM08 O¥d €0€  SM09 OHd €0€  SMOF O¥d €€  SMOE O¥d €0€  SM0Z O¥d €0¢€ S|9po
. "asealoul woQ| AloAs Uoj 9, \.5 pajelap aq p|noys w.n_D oyl ‘woo0‘z opmny Bunesedo
:opnyje Bunesado wnwixew ay| {|9AS] BaS aA0ge W0 | ulyum Bunelsp oN
Buisuspuosuou ‘% G6-G Apiwny juswiuoniaug

suolipuod poob u abeyoed aAosjold 8y} UIM O, GG+ ~ GL—

buneisadp
alnjesadwa] abelolg

0.01-0

aimeladwa] jusIquy

51



"asealoul W} Alans 1o} % | Aq pajelap aq pinoys SdN 8yl ‘W00

:opnyyje Bunesado wnwixew ay| {|9A8] Bas anoge w0 | uiyum Bunessp oN EPTY BUERIEE G
BuisuspuoouoU ‘% GE-G AlpiwnyH s s
bunesado
suonIpuod poob ul abeyoed aainoajold 8yl Yim O GG+ ~ GL— ainjeladwa| abelo)s
D.0%-0 almeladwa| jusiquiy
%86 SPON OO
fuapyya
%6 BPOJ\ UOISIBAU0D-8|qN0(
. " D.0¥ Jo 9393:._9 jusiquie ue e peoj o\im._‘A Joj sw G| pue aWi| Peopsno
Peo| %0S51-9¢| Joj ulw | "peo| %GZL-LL1l 0} uiw Q| "pPeo| %0LL-20l Jo} uiw 09
ZHY T zH(ZZ2-2h) aouels|o] Aousnbaig nding
60 10108 JIemod
(SL¥/0%2 ‘'08€/02Z [euoidQ) ‘@I PUNOIS + BIIA [BINBN + 8SBUd 981y L ‘0. 00%/0£2 abejoA pajey
(%0zZ F :8buey jeuondp wnwixep
‘%01 F :obuey abejjo pajey Jinejeq) OBAGEY/EST O} 6G€/L0C abuey abejjo/ ssedAg
(SL¥/0vg ‘08€/02z :leuondQ) 9eA00Y/0€T Buney
(%0Z+ '%0S-) 9eA8.1/9/2 0} LOZ/9LL :PEOT %05
(%0Z+ ‘%S 1-) 9eA8.1/9/2 0} 0€€/061 PO %001 abuey abejjoA sule\ OV induj

(SL¥/0¥Z ‘08€/02¢ :leuondQ) 2eA001/0€T Buney

660 < 10)0B JOMOd
ZHZL - ¢V Aousnbaiy
AlI\\ PUNOID) + BIINA [BIINBN + 8SeUd 98ly| adA] ndu|
MM08L/VAM00Z MY LINAMO9 MM80L/VAMOZ] MM06/VAM001 Aydede) pajey
SY00Z Odd €0¢ SYM09L O¥d £€0¢€ SM0ZL Odd £€0¢ SYM00L O¥d £€0¢€ S|ISPOW

suonesy1oads SM08/SM09/SMOY/SHOE/SHOZ OUd €2¢€

52



"wea)
yoddns |es1uydal Jo sa|es yejues syl Yiim uolewlipuod 196 nok ains ayepy uolzeinbiyuod uoidas A1913eq Inejop-uoN

"s92UeqIN)SIP JUSAId 0} papasu 3q Aew SaINSEIW [_UOIHPPE JO SUOIIDIIISDI UOIIR|[RISU| "JUSWUOIIAUD
K1epuodas sy ui uonedijdde jeuasnpul pue [e1213WWod 104 papualul st 1npoud iyl :ONINYVM

DI\l
2 017029/03l spJepuels \ﬁmtmw jeuoljeutalu|
¢'092./99 BUIYD JO spliepuels A1ojes |euoneN
G601 1L/AA uonesliued J71L spiepueis
£v61v9O euly) Jo spiepuelg A1ejeg [euoneN ISETLEIN
9/81 X 0€8 <009 9/81 X008 <009 (ww) (Hx @ X M) suoisuswiq
ByGzs byGZs 6M6.€ By1G6¢ (Asepeq JNOYNIM) JYBrapA SS0ID .
1ybis\
BM.SY 6M.GY BMLLE Byege (A1epeq IJnoypm) 1ybiapn 1N
abeyjjop buibieyd pasey
s||e :Bumes nejap ‘(s||o o1 (s|e ’
(sleD Z61) AP8E :Bumas Jnejep (sl 91.2) AZEY 0} (SIIeD 891) N9EE /abeyop K1911eg [RUIWION
abeyoed jeuibLo YA 1840 "(NS
Jun J3j31) Jeak
HY %0. > Aypiwny ebeio)g 3u0 21035 syed
2, 0% > ainjesodws] abelolg aJeds pue sdn
10} UoIpUOD
[EI fysng 2601015
Joopu| 2%e|d
MM08L/VAN00Z MXPYLIVAN09 MM80L/NVANOZ L MMO06/VAM00L fpede) pajey

SM00C Odd €0¢ SM091 Odd €0¢ SM0¢ZL Odd €0¢ SY00L Odd €0¢ S|°POW

53



Appendix Il Reference Table of LED Indicators

NO Status Bypass | Mains In\illr)ter Battery | Fault Buzzer
LED LED LED LED LED

1 | Mains Mode

Normal [ o

Warning [ [ [ *
2 | Bypass Mode

Normal o

Warning ® [ *
3 | Battery Mode

Normal o L

Warning [ ) [ [ *
4 | Battery ECT

Normal [ [ [

Warning o o o ® *
5 | ACECT

Normal o [ [

Warning [ ) o o [ *
6 | ECO Mode

Normal [ [

Warning [ o [ *
7 | LOAD OFF

Normal

Warning [ *

If there is no LED status in the table above be found in your equipment, please
contact authorized distributors or email to santak_int@eaton.com.

* ndicator light is on
* he working cycle of buzzer is 3s: ringing 0.5s and being silent for 2.5s.

For more specific failure information, please contact SANTAK service
representative.

54



Appendix Il Warranty

The company provides: two-year free warranty service from the date of purchase.
For repair or replacement of the warranted items, please provide

Valid certification by an authorized distributor;

*  The serial number of your product.

In case of product failures, please call local distributors or email to
santak_int@eaton.com. SANTAK's customers are entitled to the following
services:

*  Two-year warranty;

*  24-hour toll-free hot line service;
. Nationwide warranty;

*  Online technical support service;

*  Free on-site repair within the warranty period of UPS.

The warranty does not cover:

. Human initiated failures;

» Failures that occur after the warranty expires;

. Items of which the serial numbers are changed or lost;

+ Damage or loss caused by force majeure;

Items that underwent unauthorized disassembly or modification;
»  Failures arising from no-compliance with operation instruction;

« Damages arising from battery over discharge or human irritated damages.

55



614-21258-00






www.santak.com.cn

WHEFBFCRINDBRA A www.santak.com.cn
ik R ERTV2XEFRESS H34%: 518101
Z AR 2%:400-830-3938/800-830-3938 E iR E:(0755)27572730
Z R0 E-mail Hh it upsservice@eaton.com

7 “SANTAK”. “Wi45”. “BE” FEXMEimgBUSEF ORI ARASME



